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TOTAL (295) 20.7 18.6 11.9 37 2.0 1.0 0.3 0.3 414 100.0
" = (120) 23.3 20.8 16.7 25 4.2 1.7 0.8 0.8 29.2 100.0
Of Xt (175) 18.9 17.1 8.6 46 0.6 0.6 0.0 0.0 49.7 100.0
srad =l (32) 28.1 34.4 6.3 0.0 9.4 3.1 0.0 0.0 18.8 100.0
CHstad (246) 20.7 16.3 12.2 3.7 1.2 0.4 0.0 0.4 451 100.0
e HOQ< 0|g2/0t0! (231) 18.6 21.2 12.6 35 2.2 0.4 0.4 0.0 41.1 100.0
23t (60) 28.3 10.0 10.0 5.0 0.0 1.7 0.0 17 433 100.0
1-204 21Xl (26) 7.7 15.4 3.8 7.7 3.8 7.7 3.8 0.0 50.0 100.0
I &AL 3-4J4 I X (149) 6.0 21.5 16.8 4.0 2.7 0.7 0.0 0.7 477 100.0
5-6J4 I X (128) 40.6 16.4 7.0 2.3 0.8 0.0 0.0 0.0 32.8 100.0
ANE+aA+2 K| (45) 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 100.0
ANS+ars (88) 0.0 26.1 17.0 3.4 1.1 1.1 0.0 0.0 51.1 100.0
ME+2 Xl (13) 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 100.0
s2 moIX A% 2 X +arA 1) 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 100.0
ASet (109) 0.0 22.0 15.6 4.6 3.7 0.0 0.0 0.9 53.2 100.0
af 4ot (15) 0.0 46.7 0.0 0.0 0.0 0.0 0.0 0.0 53.3 100.0
2 X 2k (4) 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 100.0
HI QI X (29) 0.0 10.3 10.3 10.3 3.4 6.9 3.4 0.0 55.2 100.0
Al EE= (99) 14.1 27.3 11.1 3.0 0.0 1.0 0.0 0.0 43.4 100.0
=Y RIESTEES (19) 421 10.5 10.5 5.3 0.0 0.0 0.0 0.0 316 100.0
NENHIATS (10) 30.0 30.0 10.0 0.0 0.0 0.0 0.0 0.0 30.0 100.0
QIHAUE= (140) 25.0 14.3 12.1 3.6 2.1 1.4 0.7 0.0 40.7 100.0
Ol (140) 25.0 14.3 12.1 3.6 21 1.4 0.7 0.0 40.7 100.0
S=2EHE 2 S0 AIIHA A2 (24) 16.7 16.7 12.5 4.2 0.0 0.0 0.0 0.0 50.0 100.0
TV (60) 10.0 30.0 13.3 3.3 0.0 1.7 0.0 0.0 417 100.0
8= JtA QI X Xt (88) 29.5 13.6 8.0 3.4 0.0 23 0.0 0.0 432 100.0
s= SUE XX (127) 315 17.3 11.0 24 0.8 0.8 0.0 0.0 36.2 100.0
ELESNE=PN RPN (104) 26.0 125 11.5 3.8 1.0 1.0 0.0 0.0 442 100.0
st= K-POP QI X| Xt (39) 46.2 5.1 77 77 2.6 2.6 0.0 0.0 28.2 100.0
o= H3H/=2tot L XI Kt (44) 29.5 15.9 9.1 45 0.0 45 0.0 0.0 36.4 100.0
&= 4l XXt (63) 31.7 15.9 3.2 6.3 0.0 3.2 0.0 0.0 39.7 100.0
t= 9| & CIXe! LKAt (47) 27.7 6.4 10.6 8.5 0.0 21 0.0 0.0 44.7 100.0
o= Otd &S Xt (81) 30.9 12.3 11.1 2.5 0.0 1.2 0.0 0.0 42.0 100.0
=2 FUE ASX (63) 25.4 20.6 12.7 4.8 0.0 3.2 0.0 0.0 33.3 100.0
St=2 NHSX &S K (79) 22.8 17.7 8.9 5.1 1.3 1.3 0.0 0.0 43.0 100.0
=2 K-POP &S Xt (27) 40.7 3.7 3.7 11.1 0.0 7.4 0.0 0.0 33.3 100.0
o= dAgl/=2t0r dS Kt (36) 27.8 13.9 5.6 11.1 0.0 28 0.0 0.0 38.9 100.0
5= SA dS Kt (43) 30.2 14.0 2.3 9.3 0.0 2.3 0.0 0.0 41.9 100.0
&= 9| F CIAtel 8 S Kt (45) 31.1 8.9 6.7 8.9 0.0 0.0 0.0 0.0 44.4 100.0
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1-2) A Al
- AA
BASE: M MSEX Base for % Total
A= == EH= o= OIS I Al OF EIS
TOTAL (295) 95.6 1.7 1.0 0.7 0.3 0.7 100.0
A =Xt (120) 94.2 2.5 0.8 0.8 0.0 1.7 100.0
Of Xt (175) 96.6 1.1 1.1 0.6 0.6 0.0 100.0
] TS (32) 84.4 6.3 0.0 0.0 3.1 6.3 100.0
CHEHAY (246) 97.2 1.2 0.8 0.8 0.0 0.0 100.0
=439} SRS (0] == (o]l (231) 95.7 17 13 0.4 0.4 0.4 100.0
Ct23st (60) 96.7 1.7 0.0 17 0.0 0.0 100.0
1-204 QX (26) 80.8 15.4 0.0 0.0 3.8 0.0 100.0
KA &AL 3-4J4 eI X (149) 95.3 0.7 2.0 0.7 0.0 1.3 100.0
5-60H QI X (128) 100.0 0.0 0.0 0.0 0.0 0.0 100.0
NS+ad+2 X (45) 100.0 0.0 0.0 0.0 0.0 0.0 100.0
ANE+arA (88) 100.0 0.0 0.0 0.0 0.0 0.0 100.0
ANS+2 Xl (13) 76.9 77 7.7 0.0 77 0.0 100.0
Sm moIT A% 2 X[ +abS ) 100.0 0.0 0.0 0.0 0.0 0.0 100.0
A28t (109) 97.2 0.0 1.8 0.9 0.0 0.0 100.0
Fp=lels (15) 80.0 6.7 0.0 0.0 0.0 13.3 100.0
2! X 8k 4) 75.0 25.0 0.0 0.0 0.0 0.0 100.0
Hl I X| (29) 89.7 6.9 0.0 3.4 0.0 0.0 100.0
EIAEN= (99) 94.9 4.0 1.0 0.0 0.0 0.0 100.0
S TrTr=nven Pl = (19) 100.0 0.0 0.0 0.0 0.0 0.0 100.0
NENHIAES (10) 100.0 0.0 0.0 0.0 0.0 0.0 100.0
ell= SiES (140) 95.0 0.7 1.4 1.4 0.7 0.7 100.0
Ol Ll (140) 95.0 0.7 1.4 1.4 0.7 0.7 100.0
SI=EZE S 03I A2 (24) 95.8 4.2 0.0 0.0 0.0 0.0 100.0
TV (60) 95.0 3.3 1.7 0.0 0.0 0.0 100.0
&= It QI X Xt (88) 94.3 34 0.0 0.0 0.0 2.3 100.0
St= FUE XXt (127) 95.3 24 0.0 0.8 0.0 1.6 100.0
st= X+S Xk QI XAt (104) 97.1 0.0 0.0 1.0 0.0 1.9 100.0
= K-POP QI X| Xt (39) 100.0 0.0 0.0 0.0 0.0 0.0 100.0
o= Hgt/=2tot oL X Rt (44) 100.0 0.0 0.0 0.0 0.0 0.0 100.0
&= S4! 2IXIXt (63) 96.8 1.6 0.0 0.0 0.0 1.6 100.0
st= 9| & CIXtel eI X| Xt (47) 93.6 43 2.1 0.0 0.0 0.0 100.0
&= Jtd Skt (81) 98.8 0.0 0.0 0.0 0.0 1.2 100.0
St=2 SUHE 8kt (63) 96.8 3.2 0.0 0.0 0.0 0.0 100.0
&2 NHSX A5 Kt (79) 96.2 13 0.0 0.0 0.0 25 100.0
t=2 K-POP &S Xt (27) 100.0 0.0 0.0 0.0 0.0 0.0 100.0
o= /=20t dS Kt (36) 100.0 0.0 0.0 0.0 0.0 0.0 100.0
st= SA St (43) 97.7 0.0 0.0 0.0 0.0 23 100.0
&= 9| F CIXel 85Xt (45) 95.6 2.2 22 0.0 0.0 0.0 100.0
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1-3 &4
ad
BASE: M MSEX Base for % Total
&= 2= == EH= OIS I Al OF 0= =
TOTAL (295) 48.8 20.0 7.1 4.1 2.7 0.3 16.9 100.0
A =Xt (120) 51.7 15.8 5.0 6.7 1.7 0.8 18.3 100.0
Of Xt (175) 46.9 22.9 8.6 2.3 3.4 0.0 16.0 100.0
] TS (32) 56.3 9.4 15.6 3.1 6.3 3.1 6.3 100.0
CHEHAY (246) 48.8 20.3 57 45 2.4 0.0 18.3 100.0
e 22905 0|elote! (231) 46.3 20.3 9.1 3.9 22 0.4 17.7 100.0
Ct23st (60) 58.3 18.3 17 5.0 5.0 0.0 1.7 100.0
1-204 QI X (26) 11.5 30.8 15.4 7.7 7.7 3.8 23.1 100.0
NIH & A 3-4J4 eI X (149) 16.1 32.2 12.1 5.4 3.4 0.0 30.9 100.0
5-60H QI X (128) 95.3 2.3 0.8 1.6 0.0 0.0 0.0 100.0
NS+ad+2 X (45) 100.0 0.0 0.0 0.0 0.0 0.0 0.0 100.0
ANE+arA (88) 100.0 0.0 0.0 0.0 0.0 0.0 0.0 100.0
ANS+2 Xl (13) 0.0 53.8 15.4 15.4 77 0.0 7.7 100.0
Sm moIT A% 2 X[ +AHA ) 100.0 0.0 0.0 0.0 0.0 0.0 0.0 100.0
A28t (109) 0.0 36.7 15.6 6.4 37 0.0 37.6 100.0
Fp=lels (15) 100.0 0.0 0.0 0.0 0.0 0.0 0.0 100.0
2/ X 8t (4) 0.0 50.0 0.0 25.0 25.0 0.0 0.0 100.0
Hl I X| (29) 0.0 345 13.8 6.9 6.9 34 345 100.0
EIAEN= (99) 50.5 222 9.1 2.0 3.0 0.0 13.1 100.0
S TrTr=nven Pl = (19) 63.2 15.8 5.3 0.0 0.0 0.0 15.8 100.0
NENHIAES (10) 40.0 30.0 10.0 10.0 0.0 0.0 10.0 100.0
SIHYUA= (140) 50.7 19.3 57 57 3.6 0.7 14.3 100.0
Ol Ll (140) 50.7 19.3 57 5.7 3.6 0.7 14.3 100.0
SI=EZE S 03I A2 (24) 458 25.0 8.3 4.2 4.2 0.0 12.5 100.0
TV (60) 48.3 23.3 10.0 1.7 3.3 0.0 13.3 100.0
&= It QI X Xt (88) 73.9 14.8 1.1 3.4 1.1 0.0 57 100.0
= SUE XX (127) 78.0 10.2 0.8 4.7 0.0 0.0 6.3 100.0
&= NS X XXt (104) 67.3 13.5 3.8 3.8 0.0 1.0 10.6 100.0
= K-POP QI X| Xt (39) 51.3 23.1 10.3 2.6 2.6 2.6 7.7 100.0
St= A3gl/=etof oL Xl X (44) 61.4 18.2 2.3 2.3 0.0 23 13.6 100.0
&= S4! 2IXIXt (63) 52.4 27.0 4.8 4.8 1.6 1.6 7.9 100.0
st= 2| & CIXAtel LKl Xt (47) 57.4 25.5 2.1 2.1 2.1 2.1 8.5 100.0
&= Jtd Skt (81) 74.1 13.6 0.0 25 1.2 1.2 74 100.0
=2 FUE LdSK (63) 65.1 127 1.6 4.8 16 1.6 12.7 100.0
&2 NHSX A5 Kt (79) 69.6 12.7 1.3 25 1.3 1.3 11.4 100.0
St= K-POP &S Xt (27) 44.4 29.6 0.0 3.7 37 37 14.8 100.0
o= /=20t dS Kt (36) 58.3 27.8 0.0 2.8 0.0 2.8 8.3 100.0
st= SA St (43) 55.8 30.2 23 2.3 2.3 0.0 7.0 100.0
&= 9| F CIXel 85Xt (45) 55.6 24.4 0.0 0.0 4.4 22 13.3 100.0
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1-4 AL
EN |
BASE: M MSEX Base for % Total
A= == st= EH= o= QI = I Al OF 25
TOTAL (295) 68.5 10.5 37 3.1 0.3 0.3 13.6 100.0
A =Xt (120) 81.7 9.2 25 0.0 0.0 0.8 5.8 100.0
Of Xt (175) 59.4 11.4 46 5.1 0.6 0.0 18.9 100.0
] TS (32) 56.3 15.6 3.1 9.4 0.0 0.0 15.6 100.0
CH A4 (246) 70.3 9.8 37 2.0 0.4 0.4 13.4 100.0
e 22905 0|elote! (231) 67.1 12.1 3.0 3.0 0.4 0.4 13.9 100.0
Ct23st (60) 76.7 5.0 6.7 17 0.0 0.0 10.0 100.0
1-204 QI X (26) 7.7 30.8 115 15.4 0.0 0.0 34.6 100.0
KA &AL 3-4J4 eI X (149) 57.0 15.4 4.0 2.7 0.7 0.7 19.5 100.0
5-60H QI X (128) 95.3 0.8 1.6 0.8 0.8 0.0 0.8 100.0
M2+ 8+2 X (45) 86.7 2.2 44 2.2 2.2 0.0 2.2 100.0
MNE+ars (88) 87.5 6.8 1.1 1.1 0.0 0.0 3.4 100.0
ANS+2 Xl (13) 61.5 23.1 77 0.0 0.0 0.0 77 100.0
Sm moIT A% 2 X[ +AHA ) 100.0 0.0 0.0 0.0 0.0 0.0 0.0 100.0
nk=tels (109) 58.7 12.8 37 1.8 0.9 0.9 21.1 100.0
Fp=lels (15) 66.7 6.7 0.0 0.0 0.0 0.0 26.7 100.0
2/ X 8t (4) 25.0 25.0 0.0 50.0 0.0 0.0 0.0 100.0
z[§eIDN| (29) 31.0 20.7 10.3 10.3 0.0 0.0 27.6 100.0
ElAET= (99) 67.7 12.1 3.0 4.0 1.0 0.0 12.1 100.0
S TrTr=nven Pl = (19) 73.7 0.0 10.5 0.0 0.0 0.0 15.8 100.0
NENHIAES (10) 70.0 0.0 10.0 0.0 0.0 0.0 20.0 100.0
SIHYUA= (140) 70.0 10.7 36 3.6 0.0 0.0 12.1 100.0
Ol Ll (140) 70.0 10.7 36 3.6 0.0 0.0 12.1 100.0
SI=EZE S 03I A2 (24) 66.7 16.7 4.2 8.3 0.0 0.0 4.2 100.0
TV (60) 68.3 1.7 33 1.7 0.0 0.0 15.0 100.0
&= It QI X Xt (88) 85.2 6.8 1.1 2.3 1.1 0.0 3.4 100.0
= SUE XX (127) 81.1 71 2.4 0.8 0.8 0.0 7.9 100.0
st= X+S Xk QI XAt (104) 77.9 48 1.9 1.9 0.0 0.0 13.5 100.0
= K-POP QI X| Xt (39) 79.5 7.7 5.1 0.0 0.0 0.0 7.7 100.0
St= A3gl/=etof oL Xl X (44) 81.8 45 2.3 0.0 0.0 0.0 11.4 100.0
&= S4! 2IXIXt (63) 76.2 6.3 4.8 0.0 1.6 0.0 11.1 100.0
st= 2| & CIXAtel LKl Xt (47) 68.1 10.6 8.5 2.1 2.1 0.0 8.5 100.0
&= Jtd Skt (81) 81.5 4.9 3.7 3.7 1.2 0.0 4.9 100.0
St=2 SUHE 8kt (63) 73.0 6.3 6.3 1.6 0.0 0.0 12.7 100.0
&2 NHSX A5 Kt (79) 75.9 3.8 3.8 1.3 1.3 0.0 13.9 100.0
&t= K-POP &S Xt (27) 74.1 37 37 0.0 37 0.0 14.8 100.0
o= /=20t dS Kt (36) 77.8 8.3 56 0.0 2.8 0.0 5.6 100.0
&= A 4SSt (43) 721 7.0 9.3 2.3 2.3 0.0 7.0 100.0
&= 9| F CIXel 85Xt (45) 66.7 8.9 4.4 6.7 2.2 0.0 111 100.0
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BASE: M MSEX Base for % — Total
&= oI = 4| Al O EH= o2 OFZLIPLIA g
TOTAL (295) 83.4 3.4 1.0 0.3 0.3 11.5 100.0
A =Xt (120) 81.7 5.8 0.0 0.8 0.8 10.8 100.0
Of Xt (175) 84.6 1.7 1.7 0.0 0.0 12.0 100.0
] TS (32) 46.9 15.6 6.3 0.0 3.1 28.1 100.0
CHEHAY (246) 89.0 16 0.4 0.0 0.0 8.9 100.0
e 22905 0|elote! (231) 82.7 35 0.9 0.4 0.4 12.1 100.0
Ct23st (60) 90.0 1.7 17 0.0 0.0 6.7 100.0
1-204 QX (26) 7.7 7.7 3.8 3.8 3.8 73.1 100.0
KA &AL 3-4J4 eI X (149) 84.6 5.4 0.7 0.0 0.0 9.4 100.0
5-60H QI X (128) 99.2 0.0 0.0 0.0 0.0 0.8 100.0
NS+ad+2 X (45) 100.0 0.0 0.0 0.0 0.0 0.0 100.0
ANE+arA (88) 100.0 0.0 0.0 0.0 0.0 0.0 100.0
ANS+2 Xl (13) 100.0 0.0 0.0 0.0 0.0 0.0 100.0
Sm moIT A% 2 X[ +abS ) 0.0 0.0 0.0 0.0 0.0 100.0 100.0
A28t (109) 100.0 0.0 0.0 0.0 0.0 0.0 100.0
Fp=lels (15) 0.0 33.3 6.7 0.0 0.0 60.0 100.0
2! X 8k 4) 0.0 25.0 0.0 0.0 0.0 75.0 100.0
Hl I X| (29) 0.0 13.8 6.9 3.4 34 72.4 100.0
EIAEN= (99) 85.9 3.0 0.0 0.0 0.0 11.1 100.0
S TrTr=nven Pl = (19) 84.2 0.0 5.3 0.0 0.0 10.5 100.0
NENHIAES (10) 80.0 10.0 0.0 0.0 0.0 10.0 100.0
ell= SiES (140) 84.3 2.9 1.4 0.7 0.0 10.7 100.0
Ol Ll (140) 84.3 2.9 1.4 07 0.0 10.7 100.0
SI=EZE S 03I A2 (24) 95.8 4.2 0.0 0.0 0.0 0.0 100.0
TV (60) 83.3 3.3 0.0 0.0 0.0 13.3 100.0
&= It QI X Xt (88) 87.5 2.3 0.0 0.0 0.0 10.2 100.0
St= FUE XXt (127) 88.2 3.9 0.0 0.0 0.0 7.9 100.0
st= X+S Xk QI XAt (104) 85.6 5.8 1.0 0.0 0.0 7.7 100.0
= K-POP QI X| Xt (39) 87.2 2.6 2.6 0.0 0.0 7.7 100.0
o= Hgt/=2tot oL X Rt (44) 81.8 6.8 0.0 0.0 0.0 11.4 100.0
&= S4! 2IXIXt (63) 79.4 6.3 1.6 0.0 0.0 12.7 100.0
st= 9| & CIXtel eI X| Xt (47) 83.0 6.4 0.0 0.0 0.0 10.6 100.0
&= Jtd Skt (81) 86.4 6.2 0.0 0.0 0.0 7.4 100.0
St=2 SUHE 8kt (63) 74.6 4.8 3.2 0.0 0.0 17.5 100.0
&2 NHSX A5 Kt (79) 86.1 6.3 0.0 0.0 0.0 7.6 100.0
t=2 K-POP &S Xt (27) 88.9 37 0.0 0.0 0.0 7.4 100.0
o= /=20t dS Kt (36) 83.3 8.3 0.0 0.0 0.0 8.3 100.0
&= A 4SSt (43) 81.4 4.7 0.0 0.0 0.0 14.0 100.0
&= 9| F CIXel 85Xt (45) 84.4 6.7 0.0 0.0 0.0 8.9 100.0




7130

1-6 HIO0I&
- 0l &
BASE: MM SE Xt Base for % Total
== 2= O & HIAlOF oE
TOTAL (295) 95.3 24 0.3 2.0 100.0
" = (120) 95.8 1.7 0.0 25 100.0
O Kt (175) 94.9 2.9 0.6 17 100.0
shed TS =] (32) 81.3 6.3 3.1 9.4 100.0
CH&ra (246) 97.6 16 0.0 0.8 100.0
e 2025 0|Ee2|0tel (231) 95.2 2.6 0.4 1.7 100.0
Ct=3st (60) 95.0 1.7 0.0 33 100.0
1-2J4 1Kl (26) 76.9 11.5 3.8 7.7 100.0
I &AL 3-4J4 I X (149) 95.3 2.7 0.0 2.0 100.0
5-6J4 I X (128) 100.0 0.0 0.0 0.0 100.0
NES+&d+2 X (45) 100.0 0.0 0.0 0.0 100.0
ANS+ars (88) 96.6 2.3 0.0 1.1 100.0
AME+2 X (13) 84.6 15.4 0.0 0.0 100.0
s2 moIX A% 22X +aA 1) 100.0 0.0 0.0 0.0 100.0
ASet (109) 98.2 0.9 0.9 0.0 100.0
af 4ot (15) 66.7 13.3 0.0 20.0 100.0
21En[ 18k (4) 100.0 0.0 0.0 0.0 100.0
HI QI X (29) 93.1 0.0 0.0 6.9 100.0
Al EE= (99) 94.9 3.0 0.0 2.0 100.0
s=m = SIS (19) 94.7 0.0 0.0 53 100.0
NENHIATS (10) 80.0 10.0 10.0 0.0 100.0
QIEYIE = (140) 95.7 2.1 0.0 2.1 100.0
Ol (140) 95.7 2.1 0.0 2.1 100.0
St E SO0HMI3ILK SN2 (24) 95.8 4.2 0.0 0.0 100.0
TV (60) 96.7 1.7 0.0 1.7 100.0
8= JtA QI X Xt (88) 94.3 3.4 0.0 2.3 100.0
=2 FOUE XXt (127) 93.7 3.1 0.0 3.1 100.0
ELESNE=PN RPN (104) 97.1 0.0 0.0 2.9 100.0
st=2 K-POP QI X| X} (39) 97.4 2.6 0.0 0.0 100.0
o= H3H/=2tot L XI Kt (44) 100.0 0.0 0.0 0.0 100.0
&= 4l XXt (63) 100.0 0.0 0.0 0.0 100.0
t= 9| & CIXe! LKAt (47) 93.6 4.3 0.0 2.1 100.0
o= Otd &S Xt (81) 93.8 37 0.0 2.5 100.0
=2 FUE ASX (63) 92.1 4.8 0.0 3.2 100.0
EENE=PN R =P} (79) 97.5 13 0.0 1.3 100.0
=2 K-POP &S Xt (27) 96.3 3.7 0.0 0.0 100.0
o= dAgl/=2t0r dS Kt (36) 97.2 0.0 0.0 2.8 100.0
5= SA dS Kt (43) 97.7 0.0 0.0 2.3 100.0
&= 9| F CIAtel 8 S Kt (45) 95.6 2.2 0.0 2.2 100.0
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3 5= JtA
BASE:& M S S Xt Base for % 1002 2-2 1002 =-5 1002 =-= 1002 =-0I 100_5—%%-2 1005?%-& 1007 2-0] 10092 2-S+ 1007 =2-&
[2=] [E= [=2] [0I=] [ZEfA] [AH Cl] [OIEHEI]  [S+2+01] [&ZXI6IM=]
TOTAL (296) 180.1 71.1 211.7 224.3 2215 186.9 235.8 205.4 210.0
o =Xt (121) 193.9 75.3 206.0 230.9 220.3 187.0 237.1 210.3 2125
Of Xt (175) 170.3 68.2 215.7 219.7 222.4 186.8 234.8 201.9 208.3
shed NS (33) 154.5 91.7 195.3 255.0 227.3 189.7 290.0 201.6 218.6
CHSHAd (246) 185.2 67.4 2126 219.1 220.2 184.1 2245 205.6 207.6
e 222% 0lgelote! (232) 185.4 75.0 224.9 234.4 236.5 195.6 251.0 214.9 221.3
Ct2st (60) 170.9 56.7 183.3 193.8 180.6 167.8 194.2 182.7 181.8
1-20H QI Xl (26) 152.0 82.0 241.6 269.5 2443 203.9 263.4 221.1 229.1
KA &AL 3-4J4 I X (149) 188.2 74.6 233.2 248.9 239.6 208.0 270.1 223.4 231.3
5-60H QI X| (128) 175.2 60.7 190.2 188.9 196.7 162.8 191.4 184.7 184.2
NEa+aE+2 X (45) 150.2 63.6 149.9 155.4 171.3 135.5 155.1 151.8 152.9
NS+&4 (88) 201.5 68.5 219.6 207.8 2115 182.9 219.0 209.6 207.0
ANS+2 Xl (13) 170.8 815 267.8 286.5 295.6 259.1 322.3 241.7 267.0
a2 molx| Ax 2 X +akA (1) 120.0 110.0 180.0 180.0 200.0 150.0 200.0 160.0 171.7
A28t (109) 186.3 68.0 228.7 2418 2325 200.0 258.7 218.9 2247
r=paliely (15) 138.6 76.9 177.9 266.4 199.3 187.9 231.4 194.3 200.2
21 X| o 4) 115.0 60.0 187.5 155.0 247.5 125.0 252.5 152.5 180.4
5[ReIbN| (29) 166.7 737 249.8 280.8 263.3 2237 299.4 232.4 247.3
EIAEN= (99) 177.6 70.9 211.3 209.7 216.5 180.1 220.2 199.6 202.6
e QESEEES (19) 163.9 59.8 231.7 264.7 262.5 198.9 256.7 220.1 229.7
AZNHAES (10) 146.3 48.2 157.5 155.6 131.3 114.4 190.0 153.1 149.2
SIHUA = (141) 185.6 74.3 2127 226.9 224.9 190.2 2447 208.4 2142
OlEfull (141) 185.6 74.3 2127 226.9 224.9 190.2 244.7 208.4 214.2
St Z B2 S0HMI3ILXI &2 (24) 180.9 64.3 218.6 233.9 233.6 191.6 250.0 211.1 218.1
TV (60) 186.1 70.3 203.0 201.7 214.1 1721 208.8 197.0 197.7
&= It QI XXt (88) 178.8 61.0 183.3 194.3 184.7 160.0 197.6 185.4 183.1
8= FUE XAt (128) 195.3 73.3 206.6 213.7 2115 182.9 219.8 205.2 204.9
ELESNE=PNRCIDAPN; (105) 186.4 72.6 219.9 2425 230.0 199.2 2445 216.2 220.4
t=2 K-POP QI X| Xt (39) 151.9 63.4 144.6 158.1 157.5 126.2 156.2 151.5 149.1
st= Hgh/=etot oI Xk (44) 175.6 65.2 162.6 167.3 174.1 1415 165.1 168.5 164.4
&= S4! XXt (64) 192.3 71.9 161.0 189.0 174.3 1452 172.3 180.8 172.4
st= 9| & CIXtel eIXI Xt (48) 149.0 74.5 154.1 177.1 172.5 148.8 182.8 160.1 164.0
8= Otd Skt (81) 174.1 60.2 1815 193.3 179.8 154.4 193.8 183.0 179.5
S= EUE A5 X (63) 181.7 67.8 206.7 211.5 207.3 167.8 226.2 200.0 200.2
&2 NHSX A5 Kt (79) 182.0 64.5 205.6 220.4 207.0 180.8 223.2 202.6 203.2
= K-POP &S Xt (27) 149.1 64.3 134.4 138.5 137.7 114.8 125.6 140.7 133.3
ot=2 Hol/E2t0t SR (36) 149.6 61.8 160.6 153.8 167.7 140.0 157.2 154.6 154.8
gt A 85Xt (43) 182.8 58.7 165.7 169.8 164.6 147.5 166.3 172.8 166.1
5= 9| F CIAtel 8 S Kt (45) 148.3 65.1 175.2 171.7 183.7 161.4 191.9 165.1 172.0




41 QIX| : Bt= 7HA
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BASE: MM SEX Base for % &o&f 22CH 2.00 F= 4.00 0f < & OCt Total [MEAN]
TOTAL (289) 61.6 8.7 18.0 9.3 24 100.0 1.82
" =N (118) 54.2 12.7 19.5 11.0 2.5 100.0 1.95
Of Xt (171) 66.7 5.8 17.0 8.2 2.3 100.0 174
shed TS (33) 60.6 15.2 18.2 3.0 3.0 100.0 1.73
CHstAd (239) 60.7 7.9 18.4 10.9 2.1 100.0 1.86
FES HOQ < 0|2/0to! (228) 68.0 8.3 14.0 8.8 0.9 100.0 1.66
CtE st (56) 39.3 5.4 375 10.7 71 100.0 2.41
1-2J4 Xl (26) 76.9 7.7 15.4 0.0 0.0 100.0 1.38
I & A 3-4J4 X (143) 72.0 11.2 13.3 2.8 0.7 100.0 1.49
5-6J4 I X (126) 46.8 5.6 23.8 18.3 5.6 100.0 2.30
Na+&d+2 X (43) 46.5 4.7 14.0 25.6 9.3 100.0 2.47
ANS+ars (87) 48.3 6.9 26.4 14.9 3.4 100.0 2.18
N2+2 Xl (13) 61.5 7.7 23.1 7.7 0.0 100.0 1.77
s2 moIX| A% 2 X +arA (1) 100.0 0.0 0.0 0.0 0.0 100.0 1.00
A S0t (104) 76.9 10.6 10.6 1.9 0.0 100.0 1.38
FSpagely (15) 46.7 20.0 26.7 0.0 6.7 100.0 2.00
2 X 2k (4) 50.0 25.0 25.0 0.0 0.0 100.0 1.75
HI QI X (28) 78.6 3.6 17.9 0.0 0.0 100.0 1.39
Al Em = (98) 64.3 71 18.4 9.2 1.0 100.0 1.76
S=m = QlzslE = (18) 55.6 5.6 11.1 16.7 11.1 100.0 222
NENHIAZS (10) 40.0 20.0 40.0 0.0 0.0 100.0 2.00
SIHYUH = (138) 59.4 9.4 19.6 9.4 2.2 100.0 1.86
el (138) 59.4 9.4 19.6 9.4 22 100.0 1.86
SH=2EE 2 S0 AIIHA A2 (24) 66.7 8.3 12.5 12.5 0.0 100.0 1.71
TV (59) 66.1 8.5 18.6 5.1 1.7 100.0 1.68
t= Ot I X Xt (88) 0.0 0.0 60.2 30.7 9.1 100.0 3.49
st= SUE XX (126) 35.7 5.6 33.3 19.0 6.3 100.0 2.55
St=2 NS LXKt (105) 36.2 8.6 29.5 20.0 5.7 100.0 2.50
&t= K-POP QI X| Xt (38) 421 5.3 36.8 13.2 26 100.0 2.29
o= H3H/=2tot L XI Kt (43) 51.2 7.0 23.3 14.0 4.7 100.0 2.14
st S4] oI XXt (63) 52.4 4.8 25.4 14.3 3.2 100.0 2.11
t= 9| & CIXke! LKAt (46) 41.3 6.5 34.8 15.2 2.2 100.0 2.30
o= O™ &S Xt (80) 0.0 13.8 46.3 30.0 10.0 100.0 3.36
=2 FUE ASX (63) 47.6 12.7 34.9 4.8 0.0 100.0 1.97
EE NP R =P} (79) 40.5 6.3 31.6 15.2 6.3 100.0 2.41
&= K-POP &S &t (26) 34.6 3.8 46.2 11.5 3.8 100.0 2.46
o= A/ E2tor SR (35) 457 5.7 34.3 11.4 2.9 100.0 2.20
&= A A4St (41) 46.3 4.9 29.3 14.6 4.9 100.0 2.27
8t 2| F CIXe! 8 S Xt (44) 47.7 45 25.0 18.2 45 100.0 2.27




42X | Bh= R E
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BASE: M M S E Xt Base for % N3 2ECH 2.00 = 4.00 < & OCH Total [MEAN]
TOTAL (289) 46.0 11.4 21.1 10.7 10.7 100.0 2.29
” =Xt (118) 40.7 11.9 22.9 12.7 11.9 100.0 2.43
Of Xt (171) 49.7 11.1 19.9 9.4 9.9 100.0 2.19
shed NSs (33) 27.3 24.2 15.2 6.1 27.3 100.0 2.82
CHEtHAY (240) 47.9 9.6 21.3 12.1 9.2 100.0 2.25
=439} 22525 0|Eelotel (229) 49.3 11.8 19.2 9.6 10.0 100.0 2.19
Ct2st (56) 32.1 8.9 30.4 16.1 125 100.0 2.68
1-204 QX (26) 61.5 19.2 11.5 7.7 0.0 100.0 1.65
KA &AL 3-4J4 eI X (144) 63.9 11.1 16.7 2.1 6.3 100.0 1.76
5-6J4 I X (126) 21.4 10.3 27.8 20.6 19.8 100.0 3.07
NES+atd+2 X (43) 16.3 2.3 32,6 20.9 27.9 100.0 3.42
ANE+ats (88) 22.7 14.8 25.0 20.5 17.0 100.0 2.94
ANS+2 Xl (13) 61.5 0.0 30.8 7.7 0.0 100.0 1.85
S3 moIT A% 2 X[ +akS ) 0.0 100.0 0.0 0.0 0.0 100.0 2.00
A28t (104) 74.0 9.6 12.5 1.0 2.9 100.0 1.49
=p=kels (15) 13.3 26.7 33.3 0.0 26.7 100.0 3.00
2! X 8k 4) 75.0 25.0 0.0 0.0 0.0 100.0 1.25
Hl I K| (28) 64.3 14.3 14.3 71 0.0 100.0 1.64
HEEE=E (99) 46.5 10.1 24.2 12.1 71 100.0 2.23
S rTr=nyen Pl = (18) 44.4 5.6 5.6 16.7 27.8 100.0 2.78
NENHIATS (10) 30.0 10.0 30.0 20.0 10.0 100.0 2.70
S ESES (138) 413 145 225 10.1 11.6 100.0 2.36
Ol Ll (138) 41.3 14.5 225 10.1 11.6 100.0 2.36
SH=EZE S 03I A2 (24) 4.7 12,5 29.2 16.7 0.0 100.0 2.21
TV (60) 51.7 8.3 20.0 11.7 8.3 100.0 2.17
&= It QI X Xt (87) 11.5 34 33.3 25.3 26.4 100.0 3.52
8= FUE XAt (128) 0.0 0.0 49.2 24.2 26.6 100.0 3.77
&= XtS X+ QIXI At (104) 18.3 9.6 31.7 18.3 221 100.0 3.16
= K-POP QI X| Xt (39) 33.3 7.7 38.5 7.7 12.8 100.0 2.59
st= Hsh/=2tot oI X Xt (44) 27.3 11.4 27.3 13.6 20.5 100.0 2.89
&= sS4 XXt (63) 31.7 6.3 28.6 19.0 14.3 100.0 2.78
st= | F CIXtel oI X Xt (48) 18.8 4.2 417 18.8 16.7 100.0 3.10
8= Otd dS Kt (80) 13.8 8.8 32.5 225 225 100.0 3.31
=2 FUE LASK (62) 0.0 33.9 51.6 9.7 4.8 100.0 2.85
&2 NHSX A5 Kt (79) 17.7 10.1 27.8 20.3 24.1 100.0 3.23
=2 K-POP &S Xt (27) 33.3 7.4 33.3 11.1 14.8 100.0 2.67
o= Hg/=et0r S Kt (36) 33.3 11.1 19.4 19.4 16.7 100.0 2.75
&= A 4SSt (42) 31.0 4.8 357 14.3 14.3 100.0 2.76
5= 9| F CIAtel 8 S Kt (45) 222 6.7 31.1 20.0 20.0 100.0 3.09




4-3 QIX| & : Bh= XS At
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BASE: M M S E Xt Base for % N3 2ECH 2.00 = 4.00 < & OCH Total [MEAN]
TOTAL (288) 50.0 14.6 20.1 9.0 6.3 100.0 2.07
e =Xt (118) 432 16.9 212 10.2 8.5 100.0 2.24
Of Xt (170) 54.7 12.9 19.4 8.2 4.7 100.0 1.95
shed i Sic ¢ (33) 30.3 27.3 18.2 15.2 9.1 100.0 2.45
CH A4 (240) 52.9 125 20.4 8.8 5.4 100.0 2.01
e 22525 0|Eelotel (228) 51.3 15.4 18.4 9.6 5.3 100.0 2.02
Ct2st (56) 44.6 10.7 28.6 8.9 71 100.0 2.23
1-200 QX (26) 76.9 11.5 3.8 3.8 3.8 100.0 1.46
KA &AL 3-4J4 eI X (143) 58.0 11.9 21.0 5.6 35 100.0 1.85
5-601 I X (126) 35.7 18.3 23.0 13.5 9.5 100.0 2.43
M+ 8+2 X (44) 38.6 11.4 20.5 18.2 11.4 100.0 2.52
NE+&4d (87) 36.8 19.5 26.4 10.3 6.9 100.0 2.31
ANS+2 Xl (13) 53.8 15.4 23.1 0.0 77 100.0 1.92
3 moIT| A% 2 X +a (1) 0.0 100.0 0.0 0.0 0.0 100.0 2.00
A28t (103) 63.1 12.6 16.5 4.9 2.9 100.0 172
=p=kels (15) 33.3 0.0 40.0 6.7 20.0 100.0 2.80
2/ X 8t 4) 50.0 25.0 0.0 25.0 0.0 100.0 2.00
HI I Xl (28) 71.4 14.3 741 741 0.0 100.0 1.50
EA=EE=S (98) 49.0 21.4 17.3 8.2 4.1 100.0 1.97
Ty QIESEEES (18) 50.0 1.1 11.1 222 5.6 100.0 2.22
NENHIATS (10) 50.0 20.0 0.0 20.0 10.0 100.0 2.20
S ESES (138) 46.4 10.1 25.4 9.4 8.7 100.0 2.24
Ol Ll (138) 46.4 10.1 25.4 94 8.7 100.0 2.24
St ZBES0HMI3ILXI &2 (23) 47.8 26.1 13.0 8.7 4.3 100.0 1.96
TV (60) 50.0 16.7 23.3 6.7 3.3 100.0 1.97
&= It QI X Xt (87) 23.0 10.3 31.0 21.8 13.8 100.0 2.93
8= FUE XAt (127) 28.3 12.6 323 17.3 9.4 100.0 2.67
ELESNE=PN I DDA (105) 0.0 0.0 57.1 25.7 17.1 100.0 3.60
= K-POP QI X| Xt (38) 421 7.9 31.6 7.9 10.5 100.0 2.37
st=2 Ash/=2t0r o XI Xt (43) 30.2 9.3 41.9 11.6 7.0 100.0 2.56
&= sS4 XXt (63) 38.1 12.7 23.8 12.7 12.7 100.0 2.49
st= 9|2 CIXtel oI X Xt (47) 29.8 8.5 44.7 10.6 6.4 100.0 2.55
8= Otd dS Kt (80) 17.5 13.8 33.8 23.8 11.3 100.0 2.98
=2 FUE LASK (62) 40.3 19.4 226 9.7 8.1 100.0 2.26
&2 NHSX A5 Kt (79) 0.0 20.3 39.2 22.8 17.7 100.0 3.38
St= K-POP &S Xt (27) 44.4 37 25.9 11.1 14.8 100.0 2.48
o= Hg/=et0r S Kt (35) 28.6 20.0 34.3 8.6 8.6 100.0 2.49
st= SA St (43) 39.5 18.6 20.9 7.0 14.0 100.0 2.37
&= 9| F CIXel 85Xt (44) 34.1 9.1 29.5 15.9 11.4 100.0 2.61




4-4 91X T : B2 22t (K-POP)
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BASE: M M S E Xt Base for % N3 2ECH 2.00 = 4.00 < & OCH Total [MEAN]
TOTAL (289) 80.6 6.2 8.7 2.8 1.7 100.0 1.39
o =Xt (117) 82.9 6.8 6.8 2.6 0.9 100.0 1.32
Of Xt (172) 79.1 5.8 9.9 2.9 2.3 100.0 1.44
shed NSs (33) 84.8 6.1 6.1 3.0 0.0 100.0 1.27
o CHatAy (240) 796 6.7 9.2 25 2.1 100.0 1.41
e 22525 0|Eelotel (230) 83.9 5.2 7.0 17 22 100.0 1.33
Ct2st (55) 67.3 10.9 16.4 55 0.0 100.0 1.60
1-200 QX (26) 84.6 11.5 0.0 3.8 0.0 100.0 1.23
KA &AL 3-4J4 eI X (144) 84.7 35 9.0 0.7 2.1 100.0 1.32
5-601 I X (126) 74.6 8.7 10.3 4.8 1.6 100.0 1.50
M+ 8+2 X (43) 58.1 11.6 20.9 7.0 2.3 100.0 1.84
NE+&4d (88) 86.4 6.8 23 2.3 2.3 100.0 1.27
ANS+2 Xl (13) 53.8 7.7 30.8 77 0.0 100.0 1.92
3 moIT| A% 2 X +a (1) 100.0 0.0 0.0 0.0 0.0 100.0 1.00
A28t (104) 87.5 2.9 7.7 0.0 1.9 100.0 1.26
=p=kels (15) 80.0 13.3 6.7 0.0 0.0 100.0 1.27
21 X| o (4) 75.0 25.0 0.0 0.0 0.0 100.0 1.25
HI I Xl (28) 82.1 3.6 741 741 0.0 100.0 1.39
EA=EE=S (98) 827 8.2 6.1 2.0 1.0 100.0 1.31
Ty QIESEEES (18) 72.2 0.0 27.8 0.0 0.0 100.0 1.56
NENHIATS (10) 80.0 10.0 10.0 0.0 0.0 100.0 1.30
S ESES (139) 79.1 6.5 9.4 3.6 1.4 100.0 1.42
OIEf Yl (139) 79.1 6.5 9.4 3.6 1.4 100.0 1.42
St ZBES0HMI3ILXI &2 (24) 91.7 0.0 8.3 0.0 0.0 100.0 117
TV (60) 83.3 6.7 5.0 33 1.7 100.0 1.33
&= It QI X Xt (88) 67.0 10.2 12.5 57 45 100.0 1.70
8= FUE XAt (127) 72.4 9.4 10.2 55 2.4 100.0 1.56
ELESNE=PN I DDA (105) 74.3 7.6 9.5 6.7 1.9 100.0 1.54
= K-POP QI X| Xt (39) 0.0 0.0 66.7 20.5 12.8 100.0 3.46
st=2 Ash/=2t0r o XI Xt (44) 38.6 13.6 22.7 13.6 11.4 100.0 2.45
&= sS4 XXt (64) 48.4 10.9 28.1 94 3.1 100.0 2.08
st= 9|2 CIXtel oI X Xt (48) 45.8 14.6 20.8 10.4 8.3 100.0 2.21
8= Otd dS Kt (81) 69.1 8.6 11.1 6.2 4.9 100.0 1.69
=2 FUE LASK (62) 71.0 8.1 14.5 4.8 1.6 100.0 1.58
&2 NHSX A5 Kt (79) 75.9 7.6 7.6 6.3 2.5 100.0 1.52
St= K-POP &S Xt (27) 0.0 14.8 48.1 18.5 18.5 100.0 3.41
o= Hg/=et0r S Kt (36) 417 16.7 222 5.6 13.9 100.0 2.33
5t= SAl dS Xt (43) 48.8 16.3 25.6 4.7 47 100.0 2.00
5= 9| F CIAtel 8 S Kt (45) 53.3 1.1 20.0 8.9 6.7 100.0 2.04




4-5 QIX| & ; Bt= Hsh=2iot
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BASE: M M S E Xt Base for % N3 2ECH 2.00 = 4.00 < & OCH Total [MEAN]
TOTAL (287) 79.4 5.6 9.1 45 1.4 100.0 1.43
e =Xt (116) 81.9 3.4 10.3 3.4 0.9 100.0 1.38
Of Xt (171) 77.8 7.0 8.2 5.3 1.8 100.0 1.46
shed i Sic ¢ (33) 727 9.1 15.2 3.0 0.0 100.0 1.48
CH A4 (238) 80.7 55 7.1 5.0 1.7 100.0 1.42
e 22525 0|Eelotel (228) 81.1 4.4 9.6 3.9 0.9 100.0 1.39
Ct2st (55) 745 10.9 5.5 7.3 1.8 100.0 1.51
1-200 QX (24) 87.5 4.2 8.3 0.0 0.0 100.0 1.21
KA &AL 3-4J4 eI X (143) 83.2 4.2 9.8 14 1.4 100.0 1.34
5-601 I X (127) 73.2 7.9 8.7 8.7 1.6 100.0 1.57
M+ 8+2 X (44) 70.5 6.8 11.4 9.1 2.3 100.0 1.66
NE+&4d (88) 80.7 45 6.8 6.8 1.1 100.0 143
ANS+2 Xl (13) 61.5 23.1 7.7 0.0 77 100.0 1.69
3 moIT| A% 2 X +a (1) 0.0 0.0 0.0 100.0 0.0 100.0 4.00
A28t (103) 84.5 4.9 7.8 1.9 1.0 100.0 1.30
=p=kels (15) 66.7 13.3 20.0 0.0 0.0 100.0 1.53
2/ X 8t 4) 100.0 0.0 0.0 0.0 0.0 100.0 1.00
HI I Xl (26) 84.6 0.0 15.4 0.0 0.0 100.0 1.31
EESEEES (99) 80.8 5.1 10.1 3.0 1.0 100.0 1.38
Ty QIESEEES (18) 83.3 1.1 5.6 0.0 0.0 100.0 1.22
AZNHAES (9) 77.8 0.0 11.1 0.0 11.1 100.0 1.67
S ESES (137) 774 5.8 10.2 6.6 0.0 100.0 1.46
OIEf Yl (137) 77.4 5.8 10.2 6.6 0.0 100.0 1.46
St ZBES0HMI3ILXI &2 (24) 100.0 0.0 0.0 0.0 0.0 100.0 1.00
TV (60) 71.7 5.0 16.7 5.0 1.7 100.0 1.60
&= It QI X Xt (87) 71.3 8.0 57 11.5 34 100.0 1.68
8= FUE XAt (127) 71.7 71 11.0 8.7 1.6 100.0 1.61
ELESNE=PN I DDA (105) 68.6 6.7 15.2 7.6 1.9 100.0 1.68
= K-POP QI X| Xt (39) 33.3 12.8 25.6 17.9 10.3 100.0 2.59
st=2 Ash/=2t0r o XI Xt (44) 0.0 0.0 61.4 29.5 9.1 100.0 3.48
&= sS4 XXt (64) 453 12,5 26.6 94 6.3 100.0 2.19
st= 9|2 CIXtel oI X Xt (48) 417 14.6 27.1 12.5 4.2 100.0 2.23
8= Otd dS Kt (80) 71.3 10.0 5.0 11.3 25 100.0 1.64
=2 FUE LASK (63) 73.0 7.9 12.7 4.8 1.6 100.0 1.54
&2 NHSX A5 Kt (78) 66.7 9.0 15.4 7.7 1.3 100.0 1.68
St= K-POP &S Xt (27) 25.9 18.5 25.9 18.5 11.1 100.0 2.70
o= Hg/=et0r S Kt (35) 0.0 20.0 457 25.7 8.6 100.0 3.23
gt A A5 Xt (42) 45.2 21.4 19.0 9.5 4.8 100.0 2.07
&= 9| F CIXel 85Xt (45) 46.7 15.6 24.4 13.3 0.0 100.0 2.04




14 /30

4-6 2IX| T : B 54
BASE: M M S E Xt Base for % N3 2ECH 2.00 = 4.00 < & OCH Total [MEAN]
TOTAL (288) 68.1 10.1 16.0 3.8 2.1 100.0 1.62
o =Xt (116) 70.7 9.5 12.1 43 3.4 100.0 1.60
Of Xt (172) 66.3 10.5 18.6 35 1.2 100.0 1.63
] isis (33) 63.6 12.1 18.2 0.0 6.1 100.0 173
CH A4 (239) 68.2 9.6 15.9 4.6 1.7 100.0 1.62
e 22525 0|Eelotel (230) 69.6 10.0 15.2 3.9 1.3 100.0 1.57
Ct2st (54) 61.1 13.0 18.5 5.6 1.9 100.0 174
1-200 QX (25) 68.0 8.0 20.0 0.0 4.0 100.0 1.64
KA &AL 3-4J4 eI X (143) 71.3 11.2 12.6 2.8 2.1 100.0 1.53
5-601 I X (127) 64.6 10.2 17.3 6.3 1.6 100.0 1.70
NES+ad+2 Xl (44) 54.5 11.4 18.2 11.4 45 100.0 2.00
NE+&4d (88) 72.7 11.4 11.4 34 1.1 100.0 1.49
ANS+2 Xl (13) 53.8 15.4 30.8 0.0 0.0 100.0 1.77
3 moIT| A% 2R [Ea (1) 0.0 0.0 100.0 0.0 0.0 100.0 3.00
A28t (103) 74.8 8.7 12.6 2.9 1.0 100.0 1.47
=p=kels (15) 53.3 26.7 13.3 0.0 6.7 100.0 1.80
2/ X 8t 4) 100.0 0.0 0.0 0.0 0.0 100.0 1.00
HI I Xl (27) 63.0 37 25.9 3.7 37 100.0 1.81
EA=EE=S (98) 735 8.2 12.2 5.1 1.0 100.0 1.52
Ty QIESEEES (18) 61.1 5.6 22.2 5.6 5.6 100.0 1.89
NENHIATS (10) 80.0 0.0 20.0 0.0 0.0 100.0 1.40
RlE S E=s (138) 60.1 14.5 20.3 4.3 0.7 100.0 1.71
OIEf Yl (138) 60.1 14.5 20.3 4.3 0.7 100.0 1.71
St ZBES0HMI3ILXI &2 (24) 75.0 4.2 16.7 4.2 0.0 100.0 1.50
TV (59) 71.2 10.2 11.9 5.1 1.7 100.0 1.56
&= It QI X Xt (87) 49.4 19.5 19.5 8.0 34 100.0 1.97
8= FUE XAt (127) 52.8 16.5 21.3 7.1 2.4 100.0 1.90
&= XtS X+ QIXI At (105) 48.6 21.9 19.0 6.7 3.8 100.0 1.95
= K-POP QI X| Xt (39) 17.9 15.4 436 10.3 12.8 100.0 2.85
st= Hsh/=2tot oI X Xt (43) 23.3 14.0 34.9 18.6 9.3 100.0 2.77
&= sS4 XXt (64) 0.0 0.0 71.9 18.8 9.4 100.0 3.38
st= | F CIXtel oI X Xt (48) 375 125 29.2 125 8.3 100.0 2.42
8= Otd dS Kt (80) 53.8 20.0 15.0 7.5 3.8 100.0 1.88
=2 FUE LASK (63) 58.7 127 222 3.2 3.2 100.0 1.79
&2 NHSX A5 Kt (78) 52.6 12.8 21.8 9.0 3.8 100.0 1.99
=2 K-POP &S Xt (27) 14.8 14.8 37.0 222 11.1 100.0 3.00
o= Hg/=et0r S Kt (34) 17.6 147 412 17.6 8.8 100.0 2.85
gt A A5 Xt (42) 0.0 14.3 54.8 21.4 9.5 100.0 3.26
&= 9| F CIXel 85Xt (45) 26.7 15.6 40.0 13.3 4.4 100.0 2.53




-

4-7 QIX| L : B

= 2| {1 7 ClAtel
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BASE: M M S E Xt Base for % N3 2ECH 2.00 EH= 4.00 < & OCH Total [MEAN]
TOTAL (289) 74.4 9.7 12.1 2.1 1.7 100.0 1.47
e =Xt (117) 76.9 9.4 10.3 2.6 0.9 100.0 1.41
Of Xt (172) 72.7 9.9 13.4 1.7 2.3 100.0 1.51
shed i Sic ¢ (33) 57.6 21.2 21.2 0.0 0.0 100.0 1.64
CHEtHAY (240) 771 7.9 10.8 2.5 1.7 100.0 1.44
e 22525 0|Eelotel (230) 75.2 9.1 12.2 17 1.7 100.0 1.46
Ct2st (55) 69.1 127 145 1.8 1.8 100.0 1.55
1-200 QX (25) 72.0 16.0 12.0 0.0 0.0 100.0 1.40
KA &AL 3-4J4 eI X (144) 75.7 9.0 10.4 2.1 2.8 100.0 1.47
5-6H I X| (127) 72.4 10.2 14.2 2.4 0.8 100.0 1.49
NES+atd+2 X (44) 68.2 9.1 13.6 6.8 2.3 100.0 1.66
NE+&4d (88) 72.7 10.2 15.9 1.1 0.0 100.0 1.45
ANS+2 Xl (13) 76.9 77 15.4 0.0 0.0 100.0 1.38
3 moIT| A% 2R [Ea (1) 0.0 100.0 0.0 0.0 0.0 100.0 2.00
A28t (104) 81.7 6.7 7.7 1.0 2.9 100.0 1.37
=p=kels (15) 53.3 33.3 13.3 0.0 0.0 100.0 1.60
21 X| o 4) 75.0 0.0 25.0 0.0 0.0 100.0 1.50
Hl I K| (27) 70.4 11.1 11.1 3.7 3.7 100.0 1.59
EA=EE=S (99) 7.7 11.1 13.1 2.0 2.0 100.0 1.52
Ty QIESEEES (18) 66.7 222 5.6 5.6 0.0 100.0 1.50
NENHIATS (10) 80.0 0.0 20.0 0.0 0.0 100.0 1.40
RlE S E=s (138) 75.4 7.2 13.8 1.4 2.2 100.0 1.48
OIEf Yl (138) 75.4 7.2 13.8 1.4 22 100.0 1.48
St ZBES0HMI3ILXI &2 (24) 79.2 12,5 4.2 4.2 0.0 100.0 1.33
TV (60) 70.0 6.7 18.3 1.7 3.3 100.0 1.62
&= It QI X Xt (87) 56.3 16.1 20.7 4.6 23 100.0 1.80
8= FUE XAt (127) 56.7 14.2 22.8 3.1 3.1 100.0 1.82
&= XtS X+ QIXI At (105) 54.3 18.1 229 2.9 1.9 100.0 1.80
= K-POP QI X| Xt (39) 46.2 5.1 35.9 7.7 5.1 100.0 2.21
st= Hsh/=2tot oI X Xt (44) 432 9.1 31.8 6.8 9.1 100.0 2.30
&= sS4 XXt (64) 50.0 12,5 25.0 94 3.1 100.0 2.03
st= | F CIXtel oI X Xt (48) 0.0 0.0 771 125 10.4 100.0 3.33
8= Otd dS Kt (80) 60.0 13.8 21.3 25 25 100.0 1.74
=2 FUE LASK (63) 69.8 11.1 12.7 3.2 3.2 100.0 1.59
&2 NHSX A5 Kt (78) 57.7 17.9 20.5 2.6 1.3 100.0 1.72
=2 K-POP &S Xt (27) 40.7 37 40.7 37 11.1 100.0 2.41
o= Hg/=et0r S Kt (35) 40.0 5.7 40.0 8.6 5.7 100.0 2.34
gt A A5 Xt (42) 50.0 14.3 19.0 11.9 4.8 100.0 2.07
5= 9| F CIAtel 8 S Kt (45) 0.0 26.7 53.3 8.9 11.1 100.0 3.04




4-8 2IX| T : BH AHF/AH[A
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BASE: M M S E Xt Base for % N3 2ECH 2.00 EH= 4.00 < & OCH Total [MEAN]
TOTAL (288) 75.3 115 9.0 3.1 1.0 100.0 143
o PN (116) 741 11.2 8.6 3.4 26 100.0 1.49
Of Xt (172) 76.2 11.6 9.3 2.9 0.0 100.0 1.39
shed NSs (33) 66.7 15.2 12.1 6.1 0.0 100.0 1.58
CHar A (239) 77.4 10.0 7.9 2.9 1.7 100.0 1.41
e 22525 0|Eelotel (230) 76.5 11.7 8.3 17 1.7 100.0 1.40
Ct2st (54) 68.5 11.1 13.0 7.4 0.0 100.0 1.59
1-200 QX (25) 76.0 12.0 8.0 4.0 0.0 100.0 1.40
KA &AL 3-40f CIX| (144) 80.6 8.3 7.6 2.1 1.4 100.0 1.35
5-6H I X| (126) 69.8 14.3 10.3 4.0 1.6 100.0 1.53
NES+atd+2 X (43) 58.1 18.6 14.0 7.0 2.3 100.0 1.77
NE+&4d (88) 78.4 125 6.8 1.1 1.1 100.0 1.34
ANE+2Z Xl (13) 76.9 7.7 7.7 7.7 0.0 100.0 1.46
3 moIT| A% 2R [Ea (1) 0.0 0.0 0.0 100.0 0.0 100.0 4.00
A28t (104) 82.7 6.7 7.7 1.0 1.9 100.0 1.33
=p=kels (15) 73.3 13.3 6.7 6.7 0.0 100.0 1.47
21 X| o 4) 75.0 0.0 25.0 0.0 0.0 100.0 1.50
Hl I K| (27) 70.4 14.8 11.1 3.7 0.0 100.0 1.48
EA=EE=S (99) 77.8 10.1 8.1 2.0 2.0 100.0 1.40
Ty QIESEEES (18) 66.7 27.8 5.6 0.0 0.0 100.0 1.39
NENHIATS (10) 80.0 10.0 10.0 0.0 0.0 100.0 1.30
RlE S E=s (137) 715 11.7 11.7 4.4 0.7 100.0 1.51
Ol Ll (137) 715 11.7 11.7 4.4 0.7 100.0 1.51
St ZBES0HMI3ILXI &2 (24) 79.2 12,5 4.2 4.2 0.0 100.0 1.33
TV (60) 75.0 8.3 11.7 1.7 3.3 100.0 1.50
&= It QI X Xt (86) 64.0 16.3 12.8 5.8 1.2 100.0 1.64
8= FUE XAt (126) 59.5 18.3 15.1 5.6 1.6 100.0 1.71
&= XtS X+ QIXI At (104) 62.5 16.3 15.4 5.8 0.0 100.0 1.64
= K-POP QI X| Xt (38) 50.0 13.2 21.1 10.5 53 100.0 2.08
st= Hsh/=2tot oI X Xt (44) 50.0 6.8 227 11.4 9.1 100.0 2.23
&= sS4 XXt (63) 49.2 14.3 20.6 95 6.3 100.0 2.10
st= | F CIXtel oI X Xt (47) 31.9 21.3 31.9 10.6 43 100.0 2.34
8= Otd dS Kt (79) 63.3 16.5 12.7 7.6 0.0 100.0 1.65
=2 FUE LASK (63) 66.7 127 12.7 6.3 16 100.0 1.63
&2 NHSX A5 Kt (78) 64.1 14.1 14.1 7.7 0.0 100.0 1.65
=2 K-POP &S Xt (27) 48.1 11.1 222 7.4 11.1 100.0 2.22
o= Hg/=et0r S Kt (35) 54.3 5.7 20.0 11.4 8.6 100.0 2.14
gt A A5 Xt (42) 47.6 16.7 16.7 9.5 9.5 100.0 217
5= 9| F CIAtel 8 S Kt (44) 34.1 25.0 27.3 9.1 45 100.0 2.25




4-9 °IX| T : Bt= 7|

17730

BASE: M M S E Xt Base for % N3 2ECH 2.00 = 4.00 < & OCH Total [MEAN]
TOTAL (288) 62.8 9.4 18.8 7.6 1.4 100.0 1.75
” =Xt (116) 62.1 9.5 18.1 7.8 2.6 100.0 1.79
Of Xt (172) 63.4 9.3 19.2 7.6 0.6 100.0 173
shed i Sic ¢ (32) 62.5 3.1 18.8 12.5 3.1 100.0 1.91
CHEtHAY (240) 63.8 10.0 17.9 7.5 0.8 100.0 1.72
=439} 22525 0|Eelotel (229) 64.2 11.4 16.6 6.6 1.3 100.0 1.69
Ct2st (55) 52.7 3.6 32.7 10.9 0.0 100.0 2.02
1-204 QX (25) 80.0 8.0 8.0 0.0 4.0 100.0 1.40
KA &AL 3-4J4 eI X (143) 73.4 10.5 11.9 2.8 1.4 100.0 1.48
5-60H QI X (127) 47.2 8.7 28.3 15.0 0.8 100.0 2.13
NEa+aE+2 X (44) 36.4 4.5 34.1 227 23 100.0 2.50
ANE+ats (88) 53.4 11.4 25.0 10.2 0.0 100.0 1.92
ANS+2 Xl (13) 53.8 23.1 15.4 7.7 0.0 100.0 1.77
S3 moIT A% 2 X[ +akS ) 100.0 0.0 0.0 0.0 0.0 100.0 1.00
A28t (103) 77.7 7.8 11.7 1.0 1.9 100.0 1.42
=p=kels (15) 60.0 13.3 13.3 13.3 0.0 100.0 1.80
2! X 8k 4) 75.0 0.0 25.0 0.0 0.0 100.0 1.50
HI QI XI (27) 81.5 11.1 37 0.0 37 100.0 1.33
HEEE=E (99) 66.7 10.1 17.2 5.1 1.0 100.0 1.64
S rTr=nyen Pl = (18) 50.0 5.6 0.0 38.9 5.6 100.0 2.44
NENHIATS (10) 50.0 20.0 20.0 10.0 0.0 100.0 1.90
RlE S E=s (137) 57.7 10.2 24.1 6.6 15 100.0 1.84
Ol Ll (137) 57.7 10.2 24.1 6.6 15 100.0 1.84
SH=EZE S 03I A2 (24) 62.5 12,5 20.8 4.2 0.0 100.0 1.67
TV (60) 70.0 8.3 15.0 5.0 1.7 100.0 1.60
&= It QI X Xt (86) 30.2 10.5 36.0 221 1.2 100.0 2.53
8= FUE XAt (127) 34.6 13.4 33.9 16.5 1.6 100.0 2.37
&= XtS X+ QIXI At (105) 35.2 14.3 30.5 18.1 1.9 100.0 2.37
= K-POP QI X| Xt (39) 436 7.7 33.3 12.8 2.6 100.0 2.23
st= Hgh/=etot oI X X (44) 40.9 13.6 29.5 11.4 45 100.0 2.25
&= sS4 XXt (64) 375 141 32.8 12.5 3.1 100.0 2.30
st= | F CIXtel oI X Xt (48) 29.2 14.6 37.5 14.6 4.2 100.0 2.50
8= Otd dS Kt (79) 29.1 11.4 34.2 22.8 25 100.0 2.58
=2 FUE LASK (62) 53.2 145 27.4 3.2 16 100.0 1.85
&2 NHSX A5 Kt (77) 39.0 13.0 26.0 19.5 2.6 100.0 2.34
=2 K-POP &S Xt (27) 37.0 11.1 29.6 14.8 7.4 100.0 2.44
o= Hg/=et0r S Kt (35) 40.0 8.6 31.4 14.3 5.7 100.0 2.37
&= A 4SSt (42) 40.5 16.7 31.0 95 2.4 100.0 217
5= 9| F CIAtel 8 S Kt (45) 26.7 17.8 33.3 17.8 4.4 100.0 2.56




4-10 IX| T : k= 57} o|o|%]
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BASE: M M S E Xt Base for % N3 2ECH 2.00 EH= 4.00 < & OCH Total [MEAN]
TOTAL (284) 39.1 11.3 37.7 8.5 3.5 100.0 2.26
e =Xt (113) 39.8 9.7 33.6 9.7 71 100.0 2.35
Of Xt (171) 38.6 12.3 40.4 7.6 1.2 100.0 2.20
shed i Sic ¢ (32) 40.6 9.4 21.9 18.8 9.4 100.0 2.47
CHEtHAY (237) 39.2 12.2 38.4 7.6 2.5 100.0 2.22
e 22525 0|Eelotel (226) 42,5 11.9 33.6 8.8 3.1 100.0 2.18
Ct2st (54) 25.9 11.1 48.1 9.3 5.6 100.0 2.57
1-204 QX (25) 52.0 12.0 24.0 4.0 8.0 100.0 2.04
KA &AL 3-4J4 eI X (141) 46.8 12.1 31.9 57 35 100.0 2.07
5-60H QI X (125) 26.4 11.2 46.4 13.6 24 100.0 2.54
NES+atd+2 X (43) 16.3 7.0 46.5 27.9 2.3 100.0 2.93
NE+&4d (87) 29.9 12.6 46.0 6.9 46 100.0 2.44
ANS+2 Xl (13) 385 15.4 46.2 0.0 0.0 100.0 2.08
3 moIT| A% 2R [Ea (1) 100.0 0.0 0.0 0.0 0.0 100.0 1.00
A28t (102) 52.0 147 28.4 2.9 2.0 100.0 1.88
=p=kels (14) 35.7 71 35.7 14.3 71 100.0 2.50
21 X| o 4) 50.0 0.0 25.0 0.0 25.0 100.0 2.50
Hl I K| (27) 48.1 7.4 29.6 11.1 3.7 100.0 215
EESEEES (95) 411 10.5 38.9 6.3 3.2 100.0 2.20
Ty QIESEEES (18) 33.3 0.0 33.3 222 11.1 100.0 2.78
NENHIATS (10) 30.0 10.0 40.0 10.0 10.0 100.0 2.60
RlE S E=s (137) 321 13.1 423 9.5 2.9 100.0 2.38
OIEf Yl (137) 321 13.1 423 9.5 29 100.0 2.38
St ZBES0HMI3ILXI &2 (23) 30.4 43 56.5 8.7 0.0 100.0 2.43
TV (57) 45.6 14.0 28.1 7.0 5.3 100.0 2.12
&= It QI X Xt (87) 20.7 6.9 48.3 20.7 34 100.0 2.79
8= FUE XAt (125) 20.0 8.0 50.4 17.6 4.0 100.0 2.78
&= XtS X+ QIXI At (103) 16.5 10.7 495 19.4 3.9 100.0 2.83
= K-POP QI X| Xt (39) 12.8 10.3 51.3 17.9 7.7 100.0 2.97
st= Hsh/=2tot oI X Xt (43) 11.6 9.3 48.8 23.3 7.0 100.0 3.05
&= sS4 XXt (63) 12.7 3.2 60.3 15.9 7.9 100.0 3.03
st= | F CIXtel oI X Xt (47) 14.9 6.4 48.9 17.0 12.8 100.0 3.06
8= Otd dS Kt (80) 18.8 5.0 51.3 18.8 6.3 100.0 2.89
=2 FUE LASK (62) 27.4 11.3 435 9.7 8.1 100.0 2.60
&2 NHSX A5 Kt (78) 15.4 10.3 55.1 14.1 5.1 100.0 2.83
= K-POP & S Xt (27) 14.8 7.4 51.9 14.8 11.1 100.0 3.00
o= Hg/=et0r S Kt (35) 14.3 5.7 57.1 14.3 8.6 100.0 2.97
gt A A5 Xt (41) 17.1 4.9 51.2 19.5 7.3 100.0 2.95
5= 9| F CIAtel 8 S Kt (45) 8.9 4.4 51.1 24.4 11.1 100.0 3.24




19/30

41 MSE ;B2 I

BASE: &= 7180l i3l 'HE =& A< Base for % =O0IotAl & 2.00 2E0|Ct 4.00 O =0tet Total [MEAN]
TOTAL (97) 7.2 10.3 412 26.8 14.4 100.0 3.31
" = (46) 10.9 15.2 37.0 26.1 10.9 100.0 3.11
Of Xt (51) 3.9 5.9 45.1 27.5 17.6 100.0 3.49
sted =S (11) 18.2 9.1 54.5 9.1 9.1 100.0 2.82
CHstAd (82) 6.1 11.0 37.8 30.5 14.6 100.0 3.37
2429 HOQ < 0|2/0t0! (62) 6.5 12.9 435 25.8 11.3 100.0 3.23
CtZ st (32) 3.1 6.3 40.6 31.3 18.8 100.0 3.56
1-2J4 1Kl (5) 0.0 40.0 40.0 0.0 20.0 100.0 3.00
I & A 3-4J4 I X (34) 11.8 17.6 35.3 23.5 11.8 100.0 3.06
5-6J1 21 X| (59) 5.1 34 44.1 30.5 16.9 100.0 3.51
MNE+aA+2 3% (19) 0.0 5.3 36.8 31.6 26.3 100.0 3.79
ANS+ars (42) 7.1 4.8 45.2 31.0 11.9 100.0 3.36
Me+2 x| (5) 0.0 0.0 60.0 20.0 20.0 100.0 3.60
st= HOIXl =& A28t (18) 16.7 27.8 22.2 22.2 11.1 100.0 2.83
F=p=kels (7) 14.3 14.3 28.6 28.6 14.3 100.0 3.14
2/ X 8t ) 0.0 0.0 100.0 0.0 0.0 100.0 3.00
HI I XI (5) 0.0 20.0 60.0 0.0 20.0 100.0 3.20
=T (32) 9.4 12,5 46.9 12.5 18.8 100.0 3.19
S rTr=nven U= = (7) 0.0 0.0 14.3 42.9 42.9 100.0 4.29
NENHIAZS (6) 0.0 0.0 66.7 33.3 0.0 100.0 3.33
S ESES (48) 4.2 12.5 39.6 33.3 10.4 100.0 3.33
OIE Yl (48) 4.2 125 39.6 33.3 10.4 100.0 3.33
SI=2EZE S 03I A2 (7 14.3 0.0 714 14.3 0.0 100.0 2.86
TV (18) 11.1 11.1 44.4 16.7 16.7 100.0 3.17
&= It QI X Xt (79) 5.1 7.6 39.2 29.1 19.0 100.0 3.49
8= FUE XAt (72) 4.2 9.7 375 30.6 18.1 100.0 3.49
St= XtS X+ QI XAt (60) 3.3 5.0 45.0 31.7 15.0 100.0 3.50
= K-POP 21 X| Xt (20) 5.0 5.0 55.0 10.0 25.0 100.0 3.45
st= Hgh/=etot oI Xk (18) 11.1 5.6 50.0 11.1 222 100.0 3.28
&= S4! XXt (28) 14.3 10.7 35.7 21.4 17.9 100.0 3.18
st= o|F C|A+el QI X| Xt (24) 42 8.3 458 25.0 16.7 100.0 3.42
&= Otd S Kt (81) 0.0 0.0 49.4 32.1 18.5 100.0 3.69
2 FUE LS (32) 6.3 12.5 75.0 6.3 0.0 100.0 2.81
&= NHSX A5 Kt (45) 2.2 0.0 44.4 26.7 26.7 100.0 3.76
St= K-POP &S Xt (17) 0.0 0.0 58.8 11.8 29.4 100.0 3.71
o= /=20t 8S Kt (19) 0.0 5.3 52.6 15.8 26.3 100.0 3.63
&= SA dS Kt (22) 9.1 9.1 31.8 227 27.3 100.0 3.50
&= 9| F CIXel 85Xt (23) 0.0 8.7 435 21.7 26.1 100.0 3.65




20/30

42455 = RUE
BASE: st= FOf Zol tliall ‘M5 = &' A2 Base for % ZO0totXl 2 2.00 S S0ICH 4.00 0 <> Z0tst Total [MEAN]
TOTAL (137) 3.6 11.7 44.5 255 14.6 100.0 3.36
o =PN; (61) 8.2 11.5 475 21.3 11.5 100.0 3.16
Of Xt (76) 0.0 11.8 42.1 28.9 17.1 100.0 3.51
Shed isis (20) 0.0 10.0 55.0 10.0 25.0 100.0 3.50
CHEHAY (110) 3.6 13.6 40.0 29.1 13.6 100.0 3.35
e 22525 0|Eelotel (99) 5.1 11.1 43.4 24.2 16.2 100.0 3.35
Ct2st (37) 0.0 16.2 432 29.7 10.8 100.0 3.35
1-200 QX (9) 0.0 0.0 88.9 0.0 11.1 100.0 3.22
KA &AL 3-4J4 I X (46) 2.2 19.6 50.0 15.2 13.0 100.0 3.17
5-6J4 I X (87) 4.6 9.2 36.8 32.2 17.2 100.0 3.48
NS+atd+2 X (31) 3.2 9.7 387 29.0 19.4 100.0 3.52
ANE+ats (60) 5.0 10.0 36.7 33.3 15.0 100.0 343
ANS+2 Xl (5) 0.0 20.0 40.0 20.0 20.0 100.0 3.40
Sm moIT A% 2| +akS ) 0.0 0.0 100.0 0.0 0.0 100.0 3.00
AN=8t (23) 4.3 21.7 47.8 17.4 8.7 100.0 3.04
& -0t (12) 0.0 16.7 50.0 8.3 25.0 100.0 3.42
2/ X 8t (1) 0.0 0.0 100.0 0.0 0.0 100.0 3.00
HI I XI ) 0.0 0.0 88.9 0.0 11.1 100.0 3.22
=T (45) 6.7 8.9 46.7 17.8 20.0 100.0 3.36
R rTr=nen == (9) 0.0 222 33.3 222 222 100.0 3.44
AZNHAES (7) 0.0 0.0 42.9 57.1 0.0 100.0 3.57
SIHYUA= (74) 27 12.2 432 28.4 135 100.0 3.38
OlEfull (74) 27 12.2 432 28.4 135 100.0 3.38
SI=EZE S 03I A2 (12) 16.7 0.0 58.3 25.0 0.0 100.0 2.92
TV (23) 4.3 13.0 34.8 21.7 26.1 100.0 3.52
&= It QI X Xt (72) 2.8 8.3 34.7 34.7 19.4 100.0 3.60
St= FUE XXt (114) 44 10.5 36.0 29.8 19.3 100.0 3.49
&= XS X+ 2IXI At (77) 3.9 14.3 32.5 31.2 18.2 100.0 3.45
= K-POP 21 X| Xt (23) 43 43 56.5 17.4 17.4 100.0 3.39
st=2 Ash/=2t0r oI XXt (29) 6.9 6.9 414 27.6 17.2 100.0 3.41
8t= 4! 2IXI Xt (42) 9.5 2.4 429 26.2 19.0 100.0 3.43
st= o|F CIXtel oI X Xt (31) 0.0 12.9 38.7 29.0 19.4 100.0 3.55
8= Otd dS Kt (69) 0.0 5.8 37.7 39.1 17.4 100.0 3.68
=2 FUE LASK (63) 0.0 0.0 100.0 0.0 0.0 100.0 3.00
&2 NHSX A5 Kt (65) 15 4.6 35.4 36.9 215 100.0 3.72
St= K-POP &S Xt (18) 0.0 0.0 55.6 222 222 100.0 3.67
o= /=20t S Kt (24) 0.0 4.2 417 33.3 20.8 100.0 3.71
8= SA STt (29) 3.4 0.0 37.9 31.0 27.6 100.0 3.79
5= 9| F CIAtel 8 SRt (35) 0.0 8.6 40.0 25.7 25.7 100.0 3.69
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BASE:8t= A}S Aol tial ‘X 28" H 2 Base for % ZO0totXl 2 2.00 S E0|CH 4.00 0 < Z0tst Total [MEAN]
TOTAL (122) 14.8 21.3 36.1 19.7 8.2 100.0 2.85
o =Xt (54) 20.4 25.9 25.9 14.8 13.0 100.0 2.74
Of Xt (68) 10.3 17.6 44.1 235 4.4 100.0 2.94
shed isis (19) 15.8 21.1 36.8 15.8 10.5 100.0 2.84
CH A4 (97) 14.4 22.7 34.0 21.6 7.2 100.0 2.85
e 222% 0|gelote! (92) 13.0 25.0 37.0 18.5 6.5 100.0 2.80
Ct2st (29) 17.2 13.8 37.9 20.7 10.3 100.0 2.93
1-200 QX (5) 0.0 40.0 40.0 20.0 0.0 100.0 2.80
KA &AL 3-4J4 I X (53) 17.0 28.3 35.8 9.4 9.4 100.0 2.66
5-6J4 I X (67) 14.9 14.9 35.8 26.9 75 100.0 297
ME+&&+2 X (20) 15.0 15.0 35.0 25.0 10.0 100.0 3.00
A 2+ats (48) 125 16.7 43.8 22.9 42 100.0 2.90
ANS+2 Xl (6) 16.7 33.3 16.7 16.7 16.7 100.0 2.83
Sm moIT A% 2 X[ +AHA ) 0.0 0.0 0.0 100.0 0.0 100.0 4.00
A28t (32) 21.9 25.0 34.4 9.4 9.4 100.0 2.59
& -0t 9) 222 111 222 222 222 100.0 3.11
2/ X 8t ) 0.0 100.0 0.0 0.0 0.0 100.0 2.00
HI I XI (7) 0.0 42.9 42.9 14.3 0.0 100.0 2.71
=T (41) 7.3 22.0 48.8 14.6 7.3 100.0 2.93
R rTr=nen == (8) 25.0 12,5 25.0 12.5 25.0 100.0 3.00
NENHIAFS (5) 20.0 20.0 20.0 40.0 0.0 100.0 2.80
SIHYUA= (64) 15.6 23.4 32.8 21.9 6.3 100.0 2.80
OIE{ Yl (64) 15.6 234 328 21.9 6.3 100.0 2.80
SI=EZE S 03I A2 (10) 10.0 20.0 60.0 10.0 0.0 100.0 2.70
TV (23) 8.7 13.0 56.5 13.0 8.7 100.0 3.00
&= It QI X Xt (62) 12.9 19.4 25.8 29.0 12.9 100.0 3.10
St= S = QIRIAE (78) 11.5 15.4 35.9 26.9 10.3 100.0 3.09
&= XS X+ 2IXI At (93) 14.0 18.3 34.4 226 10.8 100.0 2.98
= K-POP 21 X| Xt (19) 10.5 21.1 31.6 31.6 53 100.0 3.00
st=2 Ash/=2t0r oI XXt (26) 19.2 7.7 423 26.9 3.8 100.0 2.88
8t= 4! 2IXI Xt (37) 135 13.5 35.1 324 5.4 100.0 3.03
st= 9|2 CIXtel oI X Xt (26) 0.0 26.9 423 23.1 7.7 100.0 3.12
8= Otd dS Kt (66) 12.1 21.2 28.8 27.3 10.6 100.0 3.03
=2 FUE LASK (36) 8.3 27.8 44.4 13.9 5.6 100.0 2.81
&2 NHSX A5 Kt (79) 0.0 0.0 57.0 30.4 12.7 100.0 3.56
St= K-POP &S Xt (15) 0.0 6.7 46.7 33.3 13.3 100.0 3.53
o= /=20t S Kt (25) 12.0 4.0 48.0 28.0 8.0 100.0 3.16
&= A 4SSkt (26) 19.2 11.5 34.6 26.9 7.7 100.0 2.92
5= 9| F CIAtel 8 SRt (29) 3.4 20.7 37.9 24.1 13.8 100.0 3.24
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4-4 MS T : 8= 39 (K-POP)
BASE:8t= 52K POP)oll L3l 'M& =& A2 Base for % =0totAl & 2.00 2 S0ICt 4.00 0 £0tst Total [MEAN]
TOTAL (48) 27.1 18.8 333 12.5 8.3 100.0 2.56
e =Xt (16) 25.0 375 25.0 6.3 6.3 100.0 2.31
Of Xt (32) 28.1 9.4 375 15.6 9.4 100.0 2.69
] isis (5) 20.0 60.0 20.0 0.0 0.0 100.0 2.00
CH A4 (42) 26.2 16.7 33.3 14.3 9.5 100.0 2.64
e 22525 0|Eelotel (32) 25.0 21.9 375 9.4 6.3 100.0 2.50
Ct2st (16) 31.3 12.5 25.0 18.8 12.5 100.0 2.69
1-200 QX (4) 0.0 50.0 50.0 0.0 0.0 100.0 2.50
NIH A A 3-4J4 eI X (18) 1.1 27.8 38.9 1.1 11.1 100.0 2.83
5-601 I X (28) 39.3 10.7 28.6 14.3 71 100.0 2.39
M+ 8+2 X (15) 53.3 6.7 33.3 0.0 6.7 100.0 2.00
NE+ad (11) 27.3 18.2 18.2 36.4 0.0 100.0 2.64
ANS+2 Xl (6) 0.0 16.7 50.0 16.7 16.7 100.0 3.33
&= HOIXl =& ASet (10) 10.0 20.0 40.0 10.0 20.0 100.0 3.10
[Sp=dely (3) 0.0 100.0 0.0 0.0 0.0 100.0 2.00
2 X 2k ©) 0.0 100.0 0.0 0.0 0.0 100.0 2.00
=] KeIDN| (4) 25.0 0.0 75.0 0.0 0.0 100.0 2.50
Al Em= (15) 13.3 26.7 46.7 13.3 0.0 100.0 2.60
SR EH= K e B (5) 40.0 0.0 60.0 0.0 0.0 100.0 2.20
AZHHAEES (2) 0.0 50.0 0.0 0.0 50.0 100.0 3.50
= 0SES (24) 375 12,5 29.2 12.5 8.3 100.0 2.42
Ol (24) 375 12.5 29.2 12.5 8.3 100.0 2.42
S22 S0HAM3IHA &2 ) 0.0 0.0 100.0 0.0 0.0 100.0 3.00
TV (8) 12.5 12.5 50.0 25.0 0.0 100.0 2.88
&= Jt™ QI XXt (27) 222 18.5 25.9 222 11.1 100.0 2.81
S= SUE XX (31) 29.0 19.4 25.8 16.1 9.7 100.0 2.58
8t= A= Xt VXAt (22) 18.2 18.2 36.4 18.2 9.1 100.0 2.82
St= K-POP QI X| At (34) 26.5 5.9 38.2 17.6 11.8 100.0 2.82
o= HA3H/=e2tot L X Kt (22) 22.7 9.1 36.4 18.2 13.6 100.0 2.91
st= 34 QXX (32) 375 3.1 40.6 9.4 9.4 100.0 2.50
&t= 9| & CIXe! LKAt (22) 13.6 18.2 40.9 18.2 9.1 100.0 2.91
st=2 O™ AS Xt (25) 20.0 12.0 32.0 24.0 12.0 100.0 2.96
=2 FUE ASX (18) 27.8 16.7 33.3 11.1 111 100.0 2.61
EENE=PN R E=D\} (19) 10.5 15.8 42.1 21.1 10.5 100.0 3.05
8= K-POP &S Xt (27) 0.0 0.0 63.0 22.2 14.8 100.0 3.52
o= dgl/=2t0r 8S Rt (20) 5.0 10.0 45.0 20.0 20.0 100.0 3.40
&= A St (22) 27.3 45 50.0 9.1 9.1 100.0 2.68
8t= 2| F CIXtel &S Xt 21) 19.0 9.5 42.9 19.0 9.5 100.0 2.90
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MSE : k= Hsy/=2iot

BASE:st= dsy=Ezlolof s ‘"M 28" A < Base for % =00l Al & 2.00 2 S0|CH 4.00 0H < =0t Total [MEAN]

TOTAL (48) 16.7 10.4 29.2 31.3 125 100.0 3.13

=Xt (18) 27.8 0.0 44.4 222 5.6 100.0 2.78

Of Xt (30) 10.0 16.7 20.0 36.7 16.7 100.0 3.33

isis 8) 12.5 25.0 50.0 0.0 125 100.0 2.75

CHEHAY (38) 18.4 5.3 26.3 30.5 10.5 100.0 3.18

294 22525 0|Eelotel (35) 11.4 11.4 31.4 31.4 14.3 100.0 3.26

Ct2st (13) 23.1 7.7 30.8 30.8 7.7 100.0 2.92

1-200 QX 3) 0.0 33.3 33.3 33.3 0.0 100.0 3.00

a4 3-4J1f I X| (19) 15.8 10.5 26.3 26.3 21.1 100.0 3.26

5-6H I X| (27) 18.5 7.4 33.3 33.3 7.4 100.0 3.04

NS+atd+2 X (10) 40.0 10.0 40.0 10.0 0.0 100.0 2.20

ANE+ats (13) 7.7 0.0 15.4 53.8 23.1 100.0 3.85

ANS+2 Xl (5) 0.0 20.0 40.0 40.0 0.0 100.0 3.20

&= HOIXl =& 2 X +akA (1) 0.0 0.0 100.0 0.0 0.0 100.0 3.00

AN=8t (13) 23.1 7.7 23.1 30.8 15.4 100.0 3.08

& -0t (4) 0.0 25.0 50.0 0.0 25.0 100.0 3.25

Hl I X 3) 0.0 33.3 33.3 33.3 0.0 100.0 3.00

BHAEFE (15) 13.3 13.3 26.7 20.0 26.7 100.0 3.33

B RIESEEES ) ) 50.0 0.0 0.0 50.0 0.0 100.0 2.50

ASMNEAES 2) 0.0 0.0 50.0 50.0 0.0 100.0 3.50

SIHYUH = (26) 15.4 11.5 34.6 34.6 3.8 100.0 3.00

x2S W RI3IHK] el (26) 15.4 11.5 34.6 34.6 3.8 100.0 3.00

TV (14) 14.3 14.3 21.4 21.4 28.6 100.0 3.36

&= It oI X Xt (23) 17.4 8.7 17.4 47.8 8.7 100.0 3.22

8= FUE XAt (31) 226 12.9 25.8 35.5 3.2 100.0 2.84

&= XtS X+ 21X At (25) 12.0 16.0 28.0 32.0 12.0 100.0 3.16

t=2 K-POP QI X| Xt (22) 18.2 13.6 18.2 36.4 13.6 100.0 3.14

St= A gl/=2t0F X X (37) 16.2 8.1 29.7 29.7 16.2 100.0 3.22

st= 4! XXt (33) 18.2 12.1 33.3 24.2 12.1 100.0 3.00

st= o|F C|X+el QI X| Xt (23) 8.7 8.7 30.4 435 8.7 100.0 3.35

&= Otd dS Kt (22) 9.1 9.1 27.3 455 9.1 100.0 3.36

st= SUE &St (15) 13.3 20.0 26.7 26.7 13.3 100.0 3.07

=2 NHSK A5 Kt (25) 4.0 12.0 40.0 28.0 16.0 100.0 3.40

St= K-POP &S Xt (19) 0.0 10.5 31.6 47.4 10.5 100.0 3.58

o= /=20 SRt (36) 0.0 0.0 417 417 16.7 100.0 3.75

&= SA dS It (23) 17.4 8.7 26.1 34.8 13.0 100.0 3.17

8= 9| F CIXel 85Xt (24) 12,5 12,5 29.2 41.7 4.2 100.0 3.13




24 /30

Base for % %—OPEPXI o 2.00 S S0IC 4.00 O < —g—OF@ Total [MEAN]

(81) 9.9 14.8 23.5 35.8 16.0 100.0 3.33

" =Xt (29) 13.8 24.1 13.8 31.0 17.2 100.0 3.14
Of Xt (52) 7.7 9.6 28.8 38.5 15.4 100.0 3.44

shad TS (10) 20.0 30.0 30.0 10.0 10.0 100.0 2.60
CHstAd (66) 6.1 13.6 22.7 39.4 18.2 100.0 3.50

e HOQ< 0|2/0t0! (60) 8.3 11.7 23.3 38.3 18.3 100.0 3.47
Ct=3st (20) 10.0 30.0 20.0 30.0 10.0 100.0 3.00

1-2J4 Xl (9) 1.1 222 33.3 33.3 0.0 100.0 2.89

I &AL 3-4J4 X (36) 13.9 11.1 25.0 25.0 25.0 100.0 3.36
5-6J1 I X (38) 5.3 18.4 18.4 447 13.2 100.0 3.42

NE+ad+2 Xl (17) 11.8 235 11.8 35.3 17.6 100.0 3.24

ANS+atd (20) 0.0 15.0 25.0 40.0 20.0 100.0 3.65

NE+2 Xl (5) 0.0 0.0 40.0 60.0 0.0 100.0 3.60

&= HOIX == 22X +aA 1) 0.0 0.0 0.0 100.0 0.0 100.0 4.00
ASet (24) 16.7 12.5 25.0 25.0 20.8 100.0 3.21

af 4ot (5) 20.0 20.0 20.0 0.0 40.0 100.0 3.20

Hl QI X| (11) 9.1 18.2 27.3 455 0.0 100.0 3.09

EAE=EE=S (26) 11.5 7.7 23.1 30.8 26.9 100.0 3.54

Ty Pl osl= (7) 0.0 14.3 28.6 42.9 14.3 100.0 3,57
NENHIAZS ) 0.0 0.0 50.0 50.0 0.0 100.0 3.50

AENE= (44) 11.4 18.2 22.7 38.6 9.1 100.0 3.16

OIE{ Yl (44) 11.4 18.2 22.7 38.6 9.1 100.0 3.16

St Z B ES0HMI3IHXI &2 (6) 0.0 0.0 33.3 33.3 33.3 100.0 4.00
TV (17) 17.6 5.9 17.6 35.3 235 100.0 3.41

&= It QI X Xt (36) 1.1 16.7 16.7 44.4 11.1 100.0 3.28
8= FUE XAt (51) 11.8 17.6 17.6 33.3 19.6 100.0 3.31
&= XS X+ 2IXI At (42) 14.3 21.4 21.4 28.6 14.3 100.0 3.07
st= K-POP QI X| At (29) 6.9 20.7 20.7 31.0 20.7 100.0 3.38
St= Hgh/=etot oI X X (29) 13.8 13.8 24.1 31.0 17.2 100.0 3.24
8t= 4! XXt (59) 10.2 11.9 16.9 39.0 22.0 100.0 3.51
st= | F CIXtel oI X Xt (26) 15.4 15.4 11.5 30.8 26.9 100.0 3.38
8= Otd AdS Kt (32) 6.3 15.6 21.9 375 18.8 100.0 3.47
2 FUE LS (24) 42 16.7 33.3 33.3 125 100.0 3.33
&2 NHSX A5 Kt (36) 8.3 19.4 222 30.6 19.4 100.0 3.33
t=2 K-POP &S Xt (23) 0.0 17.4 17.4 34.8 30.4 100.0 3.78
o= /=20 A5 Kt (28) 7.1 10.7 214 35.7 25.0 100.0 3.61
8= sA dS T (43) 0.0 0.0 0.0 67.4 326 100.0 4.33
&= 9| F CIXtel 85Xt (33) 15.2 12.1 18.2 36.4 18.2 100.0 3.30
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MSE : k=5 o 714 7 ClALel
BASE:st= 2| &/4 fCIAtelol cHall "M =S A2l Basefor % =Z=O0rotAl & 2.00 2 S0|CH 4.00 0H < =0t Total [MEAN]
TOTAL (60) 6.7 23.3 38.3 25.0 6.7 100.0 3.02
=Xt (23) 8.7 34.8 26.1 26.1 43 100.0 2.83
Of Xt (37) 5.4 16.2 459 24.3 8.1 100.0 3.14
isis (11) 0.0 455 36.4 18.2 0.0 100.0 2.73
CHEHAY (45) 8.9 20.0 33.3 31.1 6.7 100.0 3.07
29 2030< 0|20kl (45) 2.2 26.7 422 222 6.7 100.0 3.04
Ct2st (16) 18.8 125 25.0 375 6.3 100.0 3.00
1-200 QX (7) 14.3 28.6 429 14.3 0.0 100.0 2.57
a4 3-4J1f I X| (28) 71 28.6 35.7 17.9 10.7 100.0 2.96
5-6H I X| (29) 3.4 17.2 41.4 34.5 3.4 100.0 3.17
NS+atd+2 X (12) 0.0 8.3 25.0 58.3 8.3 100.0 3.67
ANE+ats (19) 10.5 21.1 57.9 10.5 0.0 100.0 2.68
ANS+2 Xl ) 0.0 0.0 50.0 50.0 0.0 100.0 3.50
Sm moIT A% 2| +akS ) 0.0 100.0 0.0 0.0 0.0 100.0 2.00
AN=8t (17) 5.9 23.5 412 235 5.9 100.0 3.00
& -0t (5) 0.0 80.0 0.0 20.0 0.0 100.0 2.40
2/ X 8t (1) 0.0 0.0 100.0 0.0 0.0 100.0 3.00
HI I XI @) 14.3 14.3 28.6 14.3 28.6 100.0 3.29
=T (23) 43 17.4 435 26.1 8.7 100.0 3.17
X9 5= == } (6) 0.0 50.0 33.3 16.7 0.0 100.0 2.67
NENHIAFS (1) 0.0 0.0 0.0 100.0 0.0 100.0 4.00
SIHYUA= (29) 10.3 13.8 414 27.6 6.9 100.0 3.07
Ol ull (29) 10.3 13.8 414 27.6 6.9 100.0 3.07
SI=EZE S 03I A2 4) 25.0 0.0 50.0 0.0 25.0 100.0 3.00
TV (14) 0.0 7.1 42.9 42.9 71 100.0 3.50
&= It QI X Xt (32) 9.4 25.0 40.6 15.6 9.4 100.0 2.91
St= FUE XXt (44) 6.8 20.5 38.6 25.0 9.1 100.0 3.09
&= XS X+ 2IXI At (37) 54 27.0 37.8 27.0 2.7 100.0 2.95
= K-POP 21 X| Xt (17) 0.0 5.9 471 35.3 11.8 100.0 3.53
st= Hst/=2tot oI X Xt (21) 4.8 14.3 28.6 429 9.5 100.0 3.38
8t= 4! 2IXI Xt (30) 33 10.0 36.7 433 6.7 100.0 3.40
st= o|F CIXtel oI X Xt (36) 2.8 5.6 44.4 36.1 11.1 100.0 3.47
8= Otd dS Kt (29) 3.4 24.1 48.3 13.8 10.3 100.0 3.03
=2 FUE LASK (19) 5.3 21.1 47.4 10.5 15.8 100.0 3.11
&2 NHSX A5 Kt (31) 6.5 226 452 226 32 100.0 2.94
=2 K-POP &S Xt (16) 0.0 6.3 50.0 31.3 125 100.0 3.50
o= /=20t S Kt (22) 45 13.6 36.4 40.9 45 100.0 3.27
gt SA A5 Xt (21) 438 9.5 28.6 47.6 9.5 100.0 3.48
5= 9| F CIAtel 8 SRt (45) 0.0 0.0 55.6 35.6 8.9 100.0 3.53
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MSE : k=5 ALZ/AMH[A
BASE: 8= AHE/AM |20 Cf5l 'M3 2 & |2 Base for % =0totAl &  2.000 2£0ICH 4.000 O§=< E0t Total [MEAN]
TOTAL (57) 1.8 22.8 49.1 21.1 5.3 100.0 3.05
=Xt (24) 0.0 33.3 417 16.7 8.3 100.0 3.00
Of Xt (33) 3.0 15.2 54.5 24.2 3.0 100.0 3.09
isis ) 0.0 66.7 33.3 0.0 0.0 100.0 2.33
CHEtHAY (45) 0.0 15.6 48.9 26.7 8.9 100.0 3.29
294 22525 0|Eelotel (43) 2.3 233 48.8 16.3 9.3 100.0 3.07
Ct2st (16) 0.0 25.0 43.8 31.3 0.0 100.0 3.06
1-200 QX (7) 0.0 28.6 57.1 14.3 0.0 100.0 2.86
a4 3-4Jff I X| (22) 45 36.4 31.8 227 45 100.0 2.86
5-60H QI X (30) 0.0 13.3 56.7 20.0 10.0 100.0 3.27
NES+atd+2 X (13) 0.0 15.4 53.8 23.1 77 100.0 3.23
ANE+ats (16) 0.0 18.8 56.3 125 125 100.0 3.19
ANS+2 Xl 3) 0.0 0.0 33.3 66.7 0.0 100.0 3.67
S3 moIT A% 2 X[ +akS ) 0.0 0.0 100.0 0.0 0.0 100.0 3.00
A28t (14) 0.0 35.7 35.7 21.4 71 100.0 3.00
=p=kels (3) 0.0 66.7 0.0 33.3 0.0 100.0 2.67
2/ X 8t (1) 0.0 0.0 100.0 0.0 0.0 100.0 3.00
HI QI XI 8) 12.5 25.0 50.0 125 0.0 100.0 2.63
EESEEES (18) 5.6 27.8 50.0 11.1 5.6 100.0 2.83
o Pl = ) (5) 0.0 40.0 60.0 0.0 0.0 100.0 2.60
NENHIATS ) 0.0 0.0 100.0 0.0 0.0 100.0 3.00
S ESES (31) 0.0 16.1 452 32.3 6.5 100.0 3.29
OIEf Yl (31) 0.0 16.1 45.2 323 6.5 100.0 3.29
SH=EZE S 03I A2 (3) 0.0 0.0 100.0 0.0 0.0 100.0 3.00
TV (13) 7.7 38.5 30.8 15.4 7.7 100.0 277
&= It QI X Xt (27) 3.7 25.9 37.0 29.6 3.7 100.0 3.04
8= FUE XAt (43) 2.3 20.9 46.5 23.3 7.0 100.0 3.12
&= XtS X+ QIXI At (29) 34 345 34.5 27.6 0.0 100.0 2.86
= K-POP QI X| Xt (13) 7.7 0.0 38.5 38.5 15.4 100.0 3.54
st= Hsh/=2tot oI X Xt (16) 6.3 125 37.5 25.0 18.8 100.0 3.38
&= sS4 XXt (29) 34 13.8 48.3 20.7 13.8 100.0 3.28
st= | F CIXtel oI X Xt (26) 3.8 15.4 50.0 26.9 3.8 100.0 3.12
8= Otd dS Kt (27) 3.7 14.8 48.1 29.6 37 100.0 3.15
=2 FUE LASK (18) 5.6 16.7 61.1 11.1 5.6 100.0 2.94
&2 NHSX A5 Kt (29) 3.4 17.2 51.7 24.1 3.4 100.0 3.07
=2 K-POP &S Xt (14) 7.1 0.0 429 35.7 14.3 100.0 3.50
o= Hg/=et0r S Kt (16) 0.0 6.3 43.8 375 12,5 100.0 3.56
st= SA St (23) 43 43 435 30.4 17.4 100.0 3.52
5= 9| F CIAtel 8 S Kt (28) 3.6 17.9 46.4 28.6 3.6 100.0 3.1
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BASE: $h= 7| ol sl ‘&3 =& &< Base for % =0totAl & 2.00 2 S0ICt 4.00 0 £0tst Total [MEAN]
TOTAL (92) 3.3 217 51.1 20.7 3.3 100.0 2.99
o =Xt (39) 5.1 256 487 15.4 5.1 100.0 2.90
Of Xt (53) 1.9 18.9 52.8 245 1.9 100.0 3.06
Shed isis (10) 0.0 30.0 60.0 10.0 0.0 100.0 2.80
CH A4 (76) 2.6 21.1 50.0 237 2.6 100.0 3.03
e 22525 0|Eelotel (68) 4.4 235 48.5 22.1 15 100.0 2.93
Ct2st (26) 0.0 19.2 57.7 19.2 3.8 100.0 3.08
1-200 QX (6) 0.0 33.3 50.0 0.0 16.7 100.0 3.00
NIH A A 3-4J4 eI X (32) 9.4 31.3 43.8 12.5 3.1 100.0 2.69
5-601 I X (57) 0.0 15.8 54.4 28.1 1.8 100.0 3.16
NES+ad+2 Xl (22) 0.0 227 455 27.3 45 100.0 3.14
NE+&4d (37) 0.0 10.8 62.2 24.3 2.7 100.0 3.19
ANS+2 Xl (5) 0.0 20.0 40.0 40.0 0.0 100.0 3.20
&= HOIXl =& ASet (18) 1.1 444 38.9 5.6 0.0 100.0 2.39
[Sp=dely (6) 0.0 33.3 33.3 33.3 0.0 100.0 3.00
2 X 2k ©) 0.0 0.0 100.0 0.0 0.0 100.0 3.00
=] KeIDN| (6) 16.7 16.7 50.0 0.0 16.7 100.0 2.83
Al Em= (30) 3.3 23.3 60.0 10.0 33 100.0 2.87
e e B ) @ 0.0 28.6 0.0 71.4 0.0 100.0 3.43
AZHHAEES (5) 0.0 0.0 100.0 0.0 0.0 100.0 3.00
SIHYUH = (50) 2.0 20.0 50.0 24.0 4.0 100.0 3.08
Ol (50) 2.0 20.0 50.0 24.0 4.0 100.0 3.08
S=2EE 2SI A2 (7) 0.0 14.3 71.4 14.3 0.0 100.0 3.00
TV (17) 5.9 29.4 52.9 5.9 5.9 100.0 276
&t= JtA QIXI At (57) 3.5 15.8 456 29.8 5.3 100.0 3.18
S= SUE XX (74) 2.7 21.6 48.6 24.3 2.7 100.0 3.03
EENE=PNRIPAPA} (60) 3.3 25.0 43.3 25.0 3.3 100.0 3.00
St= K-POP QI X| At (19) 5.3 15.8 474 26.3 5.3 100.0 3.11
o= HA3H/=e2tot L X Kt (23) 8.7 21.7 52.2 13.0 43 100.0 2.83
st= 34 QXX (34) 5.9 20.6 52.9 17.6 2.9 100.0 2.91
&t= 9| & CIXe! LKAt (28) 3.6 14.3 64.3 14.3 36 100.0 3.00
st=2 O™ AS Xt (55) 1.8 12.7 50.9 29.1 55 100.0 3.24
=2 FUE ASX (29) 3.4 27.6 65.5 34 0.0 100.0 2.69
EENE=PN R E=D\} (47) 2.1 19.1 42.6 29.8 6.4 100.0 3.19
8= K-POP &S Xt (17) 5.9 17.6 35.3 35.3 5.9 100.0 3.18
o= dgl/=2t0r 8S Rt (21) 0.0 19.0 52.4 19.0 9.5 100.0 3.19
&= A St (24) 4.2 25.0 458 16.7 8.3 100.0 3.00
st= 9| F CIXtel 85Xt (32) 3.1 21.9 56.3 18.8 0.0 100.0 2.91




410 NS : 3H= S} o|n|X]
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BASE: $t= =7} o|o|X[of CHsl "MS =& N 2 Base for % =O0tolXl & 2.00 S E0|CH 4.00 0 <> Z0tst Total [MEAN]
TOTAL (148) 3.4 122 42.6 33.8 8.1 100.0 3.31
o =Xt (59) 3.4 13.6 40.7 32.2 10.2 100.0 3.32
Of Xt (89) 3.4 11.2 43.8 34.8 6.7 100.0 3.30
shed i sSic ¢ (18) 11.1 5.6 44.4 38.9 0.0 100.0 3.11
CH A4 (124) 2.4 14.5 39.5 355 8.1 100.0 3.32
e 222% 0|gelote! (111) 1.8 9.9 45.0 36.9 6.3 100.0 3.36
Ct2st (36) 8.3 16.7 33.3 30.6 11.1 100.0 3.19
1-200 QX (12) 0.0 8.3 58.3 25.0 8.3 100.0 3.33
NIH & A 3-4J4 I X (66) 6.1 19.7 40.9 25.8 76 100.0 3.09
5-601 I X (76) 3.9 6.6 39.5 42.1 7.9 100.0 3.43
ME+&&+2 X (29) 0.0 34 24.1 51.7 20.7 100.0 3.90
NE+&4 (52) 3.8 7.7 50.0 36.5 1.9 100.0 3.25
MNE+2 X 8) 12.5 0.0 25.0 62.5 0.0 100.0 3.38
&= HOIXl =& ASet (41) 9.8 22.0 39.0 22.0 7.3 100.0 2.95
[Sp=lely ) 0.0 22.2 55.6 1.1 11.1 100.0 3.11
2 X 2k (2) 0.0 50.0 0.0 50.0 0.0 100.0 3.00
HI QI X| (13) 0.0 15.4 61.5 15.4 7.7 100.0 3.15
Al Em= (53) 0.0 17.0 47.2 32.1 3.8 100.0 3.23
SI=m =R QM E (11) 0.0 9.1 27.3 36.4 27.3 100.0 3.82
AZHHAEE (7) 28.6 0.0 14.3 42.9 14.3 100.0 3.14
QIEYIE = (77) 26 10.4 44.2 35.1 7.8 100.0 3.35
Ol (77) 2.6 104 442 35.1 7.8 100.0 3.35
S22 S0HAM3IHA &2 (15) 0.0 0.0 66.7 33.3 0.0 100.0 3.33
TV (30) 0.0 23.3 33.3 40.0 3.3 100.0 3.23
&t= O™ QIXI At (64) 3.1 9.4 32.8 43.8 10.9 100.0 3.50
s= SUE XA (91) 4.4 7.7 41.8 36.3 9.9 100.0 3.40
8t A= Xt VXAt (79) 2.5 12.7 40.5 38.0 6.3 100.0 3.33
St= K-POP QI X| At (29) 6.9 13.8 34.5 31.0 13.8 100.0 3.31
et= HA3H/=2tor L X Kt (33) 6.1 9.1 424 36.4 6.1 100.0 3.27
st= 34 QXX (52) 1.9 5.8 48.1 327 1.5 100.0 3.46
&t= 9| & CIXe! LKkt (36) 5.6 8.3 38.9 36.1 11.1 100.0 3.39
st O™ AS Xt (61) 1.6 8.2 32.8 44.3 13.1 100.0 3.59
=2 FUE ASX (45) 6.7 13.3 44.4 28.9 6.7 100.0 3.16
St= XSk 8kt (65) 0.0 7.7 40.0 431 9.2 100.0 3.54
&= K-POP &S Xt (22) 45 13.6 36.4 31.8 13.6 100.0 3.36
o= dgl/=2t0F 8 SRt (29) 3.4 6.9 37.9 37.9 13.8 100.0 3.52
&= A St (34) 0.0 0.0 412 441 14.7 100.0 3.74
8t= 2| F CIXtel &S At (41) 2.4 9.8 43.9 34.1 9.8 100.0 3.39




6. MR ESF=
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BASE:XANSE X Base for % QIE{SIZE TV A2 S=u SNS(E=| &3 wWitA e e =k At 20 Total
TOTAL (280) 68.9 33.6 27.9 22.1 18.2 8.9 6.8 4 4.6 1.1 1.1 100.0
o SRt (111) 74.8 324 24.3 225 216 10.8 2.7 3.6 3.6 1.8 0.0 100.0
Of Xt (169) 65.1 34.3 30.2 21.9 16.0 7.7 9.5 6.5 5.3 0.6 1.8 100.0
shed NSs (28) 57.1 50.0 21.4 21.4 17.9 741 0.0 0.0 14.3 741 0.0 100.0
CHEtHAY (237) 70.9 30.4 29.1 224 17.3 9.7 7.6 6.3 3.4 0.4 1.3 100.0
=429 200< 0|20kl (220) 68.6 34.5 30.0 21.8 17.3 8.6 6.8 45 55 0.9 0.9 100.0
Ct2st (57) 68.4 28.1 21.1 24.6 21.1 10.5 7.0 8.8 1.8 1.8 1.8 100.0
1-20H QI X (24) 41.7 417 25.0 25.0 33.3 4.2 8.3 8.3 8.3 4.2 0.0 100.0
KA &AL 3-4Jff I X| (137) 72.3 35.8 29.2 20.4 16.1 7.3 8.8 2.9 5.1 0.7 0.7 100.0
5-6J1 QI X| (123) 715 29.3 27.6 22.8 17.9 12.2 4.9 6.5 3.3 0.8 16 100.0
NES+atd+2 X (43) 72.1 20.9 16.3 326 20.9 14.0 2.3 9.3 4.7 0.0 2.3 100.0
ANE+ats (85) 70.6 34.1 35.3 16.5 17.6 11.8 4.7 47 24 1.2 1.2 100.0
ANS+2 Xl (13) 69.2 30.8 38.5 15.4 23.1 0.0 15.4 77 0.0 0.0 0.0 100.0
S3 moIT A% 2 X[ +akS ) 100.0 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 100.0
A28t (98) 72.4 29.6 31.6 224 16.3 9.2 9.2 3.1 5.1 1.0 0.0 100.0
=alely (14) 78.6 50.0 28.6 71 21.4 0.0 0.0 0.0 71 0.0 0.0 100.0
2/ X 8t (4) 25.0 100.0 0.0 50.0 25.0 0.0 0.0 0.0 0.0 0.0 0.0 100.0
HIQIX| (27) 48.1 44.4 11.1 25.9 18.5 37 14.8 11.1 11.1 3.7 3.7 100.0
HEEE=E (99) 58.6 49.5 38.4 741 11.1 8.1 10.1 10.1 4.0 0.0 2.0 100.0
S rTr=nyen Pl = (19) 68.4 21.1 15.8 15.8 15.8 26.3 10.5 5.3 21.1 0.0 0.0 100.0
NENHIATS (10) 20.0 30.0 50.0 40.0 30.0 10.0 10.0 0.0 0.0 10.0 0.0 100.0
S ESES (141) 77.3 24.8 20.6 33.3 22.7 71 5.0 2.1 2.8 1.4 0.7 100.0
OlEfull (141) 77.3 24.8 20.6 33.3 227 71 5.0 2.1 2.8 1.4 0.7 100.0
SH=EZE S 03I A2 (24) 62.5 20.8 75.0 4.2 8.3 8.3 8.3 42 4.2 0.0 42 100.0
TV (60) 56.7 61.7 28.3 8.3 13.3 8.3 6.7 10.0 3.3 0.0 1.7 100.0
&= It QI X Xt (85) 77.6 27.1 25.9 21.2 17.6 11.8 2.4 5.9 5.9 1.2 1.2 100.0
= SUE AXA (123) 74.8 25.2 285 23.6 16.3 13.0 24 5.7 4.1 24 1.6 100.0
&= XtS X+ QIXI At (100) 79.0 31.0 28.0 22.0 15.0 13.0 1.0 3.0 4.0 1.0 0.0 100.0
= K-POP QI X| Xt (36) 66.7 30.6 13.9 36.1 16.7 16.7 11.1 5.6 2.8 0.0 0.0 100.0
st= Hsh/=2tot oI X Xt (41) 73.2 439 14.6 317 9.8 14.6 2.4 49 0.0 2.4 0.0 100.0
&= sS4 XXt (62) 71.0 32.3 21.0 27.4 14.5 11.3 8.1 6.5 3.2 16 0.0 100.0
st= | F CIXtel oI X Xt (46) 67.4 435 19.6 30.4 8.7 10.9 0.0 8.7 43 2.2 2.2 100.0
8= Otd dS Kt (80) 70.0 26.3 25.0 23.8 23.8 13.8 25 6.3 5.0 0.0 1.3 100.0
=2 FUE LASK (62) 61.3 24.2 32.3 27.4 24.2 6.5 6.5 48 6.5 3.2 32 100.0
&2 NHSX A5 Kt (77) 74.0 33.8 29.9 18.2 20.8 10.4 2.6 6.5 2.6 0.0 0.0 100.0
=2 K-POP &S Xt (26) 57.7 26.9 15.4 46.2 15.4 15.4 11.5 11.5 0.0 0.0 0.0 100.0
o= Hg/=et0r S Kt (34) 61.8 38.2 17.6 20.4 20.6 17.6 5.9 8.8 0.0 0.0 0.0 100.0
st= SA St (42) 66.7 23.8 23.8 28.6 16.7 14.3 11.9 7.1 4.8 0.0 0.0 100.0
5= 9| F CIAtel 8 S Kt (45) 68.9 37.8 20.0 24.4 13.3 13.3 4.4 4.4 8.9 2.2 2.2 100.0




7. SIREE §5F=
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BASE:® M SEH Xt Base for % QIE{UIZ Y A2 SE SNS(E? WA &7 S8, dd, A3 & 450 A 25 Total
TOTAL (263) 60.5 38.4 255 22.1 15.2 10.6 9.1 6.8 8 3.0 2.3 100.0
o =Xt (102) 63.7 36.3 225 24.5 19.6 6.9 9.8 5.9 4.9 1.0 2.0 100.0
Of Xt (161) 58.4 39.8 27.3 20.5 12.4 13.0 8.7 75 3.1 43 25 100.0
shed i Sic ¢ (26) 38.5 46.2 26.9 7.7 15.4 3.8 0.0 23.1 11.5 11.5 11.5 100.0
CHEtHAY (222) 63.1 37.4 26.1 23.4 14.4 12.2 10.4 5.0 27 2.3 1.4 100.0
e 2225 0l€elotel (208) 58.7 38.9 27.9 22,6 15.9 12.0 7.7 7.2 2.9 2.9 24 100.0
Ct2st (54) 68.5 37.0 16.7 20.4 13.0 7.4 16.7 37 5.6 37 1.9 100.0
1-204 QX (23) 39.1 34.8 17.4 17.4 43.5 21.7 4.3 8.7 0.0 8.7 4.3 100.0
KA &AL 3-4Jff I X| (124) 63.7 40.3 30.6 25.0 8.9 8.9 7.3 6.5 3.2 16 24 100.0
5-6J1 QI X| (120) 61.7 35.8 23.3 18.3 16.7 11.7 12,5 6.7 4.2 3.3 1.7 100.0
NES+atd+2 X (42) 66.7 16.7 9.5 33.3 19.0 71 21.4 11.9 71 2.4 0.0 100.0
ANE+ats (83) 60.2 49.4 28.9 12.0 15.7 13.3 7.2 36 24 1.2 2.4 100.0
ANS+2 Xl (13) 53.8 23.1 46.2 7.7 23.1 7.7 0.0 15.4 7.7 15.4 0.0 100.0
S3 moIT A% 2 X[ +akS ) 100.0 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 100.0
A28t (89) 65.2 36.0 31.5 27.0 6.7 11.2 10.1 5.6 1.1 1.1 3.4 100.0
=alely (11) 54.5 54.5 9.1 18.2 27.3 9.1 0.0 9.1 0.0 9.1 0.0 100.0
2/ X 8t (4) 25.0 50.0 25.0 0.0 0.0 0.0 0.0 0.0 50.0 25.0 25.0 100.0
H| Q1 X| (25) 44.0 36.0 24.0 28.0 32.0 16.0 4.0 8.0 4.0 4.0 0.0 100.0
EA=EE=S (99) 42.4 727 44.4 4.0 6.1 16.2 4.0 3.0 4.0 0.0 1.0 100.0
S rTr=nyen Pl = (19) 47.4 5.3 10.5 10.5 5.3 5.3 68.4 421 53 0.0 0.0 100.0
NENHIATS (10) 10.0 30.0 0.0 0.0 0.0 10.0 20.0 0.0 20.0 60.0 40.0 100.0
S ESES (141) 78.7 17.7 17.0 37.6 24.1 8.5 43 5.0 2.1 1.4 0.7 100.0
OlEfull (141) 78.7 17.7 17.0 37.6 24.1 8.5 43 5.0 2.1 1.4 0.7 100.0
SH=EZE S 03I A2 (24) 4.7 25.0 104.2 0.0 8.3 8.3 4.2 42 0.0 0.0 0.0 100.0
TV (60) 48.3 101.7 30.0 5.0 5.0 3.3 1.7 3.3 0.0 0.0 0.0 100.0
&= It QI X Xt (82) 69.5 34.1 20.7 15.9 15.9 11.0 13.4 4.9 3.7 2.4 3.7 100.0
8= FUE XAt (119) 64.7 33.6 25.2 19.3 14.3 10.9 11.8 5.0 5.0 3.4 2.5 100.0
&= XtS X+ QIXI At (99) 71.7 34.3 20.2 23.2 16.2 5.1 13.1 4.0 2.0 5.1 1.0 100.0
= K-POP QI X| Xt (35) 57.1 314 22.9 34.3 229 5.7 11.4 8.6 2.9 2.9 0.0 100.0
st= Hgh/=etot oI X X (40) 62.5 55.0 20.0 325 17.5 0.0 0.0 25 25 5.0 0.0 100.0
&= sS4 XXt (61) 63.9 32.8 29.5 24.6 13.1 9.8 9.8 8.2 33 3.3 0.0 100.0
st= | F CIXtel oI X Xt (45) 711 422 31.1 24.4 8.9 4.4 4.4 6.7 0.0 2.2 2.2 100.0
8= Otd dS Kt (78) 64.1 26.9 21.8 19.2 20.5 6.4 15.4 6.4 5.1 5.1 3.8 100.0
=2 FUE LASK (59) 55.9 27.1 237 22.0 28.8 13.6 8.5 5.1 8.5 5.1 1.7 100.0
&2 NHSX A5 Kt (76) 711 39.5 22.4 22.4 11.8 7.9 13.2 1.3 2.6 3.9 1.3 100.0
=2 K-POP &S Xt (25) 72.0 36.0 20.0 32.0 8.0 8.0 12.0 4.0 4.0 4.0 0.0 100.0
o= Hg/=et0r S Kt (33) 78.8 455 24.2 24.2 121 3.0 0.0 3.0 3.0 6.1 0.0 100.0
st= SA St (41) 73.2 39.0 26.8 19.5 7.3 12.2 9.8 9.8 0.0 2.4 0.0 100.0
5= 9| F CIAtel 8 S Kt (44) 773 38.6 31.8 15.9 45 9.1 9.1 9.1 2.3 2.3 0.0 100.0




